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Physics : Section-A (Q. No. 001 to 035)

1 In a series LCR circuit, the inductance L is
10 mH, capacitance C is 1 pF and resistance R
is 100Q. The frequency at which resonance

occurs is :
(1) 15.9 kHz (2) 1.59 rad/s
(3) 1.59 kHz (4) 159 rad/s
2 The magnitude and direction of the current in

the following circuit is

D YWWV C
7Q

(1) 0.5 A from 4 to B through F

2) g A from A4 to B through £

(3) 1.5 A from B to A through F
(4) 0.2 A from B to A through F

3 If the galvanometer G does not show any
deflection in the circuit shown, the value of R is
given by :

400 Q

+

+
10V—/— — 2V

(1) 50Q (2) 100Q
(3) 400Q (4) 2000
4 The temperature of a gas is —50° C. To what

temperature the gas should be heated so that the
rms speed is increased by 3 times?

(1) 3295°C (2) 3097 K
(3) 223K (4) 669° C
5 The ratio of radius of gyration of a solid sphere

of mass M and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same mass and radius about its axis is :

(1) 5:3 2) 2:5
3) 5:2 4 3:5
6 A Carnot engine has an efficiency of 50% when

its source is at a temperature 327° C. The
temperature of the sink is :

(1) 15°C (2) 100°C

(3) 200°C 4 27°C
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% gofieg LCR uftay o 9 (L) 10 mH, enfean
(C) 1uF qur gfadg (R) 100Q ¥ AR S+
TN A Rafa & smafa # -

(1) 15.9 kHz (2) 1.59 rad/s

(3) 1.59 kHz (4) 15.9 rad/s

Fr=fefaa aftaa & e & afmmr oo feon ®

A AWV II {I AWV
E

D MY C
7Q

(1) 0.5A, E4 & A9 B & 3

) gA,E@r%ﬁaﬂA@rBaﬁaﬂT

3B) 15A, EQEH BY A &l 3
4) 02A, EQEH BY A Bl 3

gfy gftay § gEdy G ®ig fae 1€ ot ¥, 99
R &1 |19 &R :

400 Q)
AN G)
+ +
10 V—— R —Hvy
1) 500 2) 1000
(3) 4000 4) 2000

fopel g @1 qrwE —50° C ¥ {9 & fpw qmwe
T T fopar T o6 3! ot Aew @ 9@ H AW

T g & 7
(1) 3295° C (2) 3097 K
(3) 223K (4) 669° C

M E=\E T4 R 5991 &% 0% 39 Mo @l 39 &
% uft@: o froen qon @9 s w9 B %
Uqd @rEd T Dl 3ab! 3TE % uia: guie e @

ST ¥
(1) 5:3 ) 2:5
3) 5:2 4) 3:5

BT go @l gerar 50% & 9 36h | Bl qIHH
327° C ¥ e o1 Qe & —
(1) 15°C (2) 100° C
(3) 200° C 4) 27°C

[ Contd...



10

11

12

A bullet is fired from a gun at the speed of
280 ms~! in the direction 30° above the
horizontal. The maximum height attained by the

bullet is (g ~9.8ms 2, sin30°= 0.5) :

(1) 2000 m (2) 1000 m
(3) 3000 m (4) 2800 m

An electric dipole is placed at an angle of 30°

with an electric field of intensity 2x10°N .
It experiences a torque equal to 4 N m. Calculate
the magnitude of charge on the dipole, if the
dipole length is 2 cm.

(1) 6 mC (2) 4 mC

(3) 2mC (4) 8 mC

Given below are two statements:

Statement I : Photovoltaic devices can convert

optical radiation into electricity.

Statement II : Zener diode is designed to operate

under reverse bias in breakdown region.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement 11
is correct.

(4) Both Statement I and Statement II are
correct.

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are :

(1) Personal errors

(2) Least count errors

(3) Random errors

(4) Instrumental errors

The ratio of frequencies of fundamental
harmonic produced by an open pipe to that of
closed pipe having the same length is :

(1 2:1 2) 1:3

3) 3:1 4 1:2

The net magnetic flux through any closed surface
is :

(1) Positive
(3) Negative

(2) Infinity
(4) Zero
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frel a9 ¥ e Ml afas & 30° & faem #
TUT B X 280 m s @ AW F AN AR B
Mell ET a9 &l TS NIhad Hals &

(g =9.8ms2, sin30°= 0.5) :

(1) 2000 m (2) 1000 m
(3) 3000 m (4) 2800 m

% ded faygd @ 2x10°N ¢! e & Tt dga
&5 % Ay 30° % BT 9T @I T 2| 3H U A
aren @ ol 4 N m $1 afs fgga &t @1 2 cm
& ar faga X ey ¥

(1) 6 mC (2) 4mC

(3) 2mC 4) 8 mC

TS e Y ™

F[ 1 : B gimar gt fafetr @ faga
g1 & ufkafaa w qadr

F44 11 : 9T S/ oA & o usaliie aud &
Srrta B ® & fou I = )

IUET B b Ted ®, T ¥ W faewt @
efifeh SugERT T T

(1) = F2= 19 w0 1 9 =i&f ¥

(2) ® 1 981 ¢ utg ®uF 1 981 7T 2|

(3) = 1 & & & ug Faw 1L 92 %)

4) = F@ 19w I T2 2

AT qAT Fees] &id o el IA qerd & BT
Ao § Fyfeat ¥ -

(1) =afermma Jfear

(2) oaais Jrear

(3) @i et

(4) @=ma Freat

THH @18 % U Gol U159 q41 95 9159 R 3
q UG bl engfEl B g @

1) 2:1 ) 1:3

3) 3:1 4 1:2

el a5 gss | T aren UiRom g wa
T

(1) &=t
3) =vTH®D

(2) sra
@ Id
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The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14eV, 2.30eV and
2.75 eV respectively. If incident electromagnetic
radiation has an incident energy of 2.20eV,

which of these photosensitive surfaces may emit
photoelectrons?

(1) Both Na and K (2) K only
(3) Na only (4) Cs only

The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of V volts is proportional to:

1
0 7 ® 7=
O @ 7

A 12V, 60 W lamp is connected to the secondary
of a step down transformer, whose primary is
connected to ac mains of 220 V. Assuming the
transformer to be ideal, what is the current in
the primary winding?
(1) 27A

(3) 037A

2) 37A
4) 027A

Light travels a distance x in time 7} in air and

10x in time l‘2 in another denser medium. What

is the critical angle for this medium?

3) sin”~! (lo—tlj 4) sin”! [zj
) gl

A metal wire has mass (0.4 £0.002) g, radius
(0.3+£0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1 1.3% 2) 1.6%
(3) 1.4% 4) 1.2%
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gitsrem (Cs), welmm (K) qur @ifsaw (Na) &1
RGBT HA: 2.14eV, 2.30eVaur 2.75eV ¥
gy e Jeagema fafeto & St 2.20eV ¥,
T W BN Tl THITGITE! T8, THIST A Sedrora
HY GHhaT ¢ ¢

(1) s9i Naa K
(3) ®ad Na

(2) waw K
(4) %aw Cs

V dieed % U fawarat & @ia el s g
A= X-foptort @l =aw aireed SrRHaTd ¥

M o 7

4

(3) 12

Th 12V, 60 W &/ el ZiasiR & fadas &
o1 2, S wafe 220 V & gerEdt did ¥ 937 31
ZIAWHER BT 3TEST AET, WTafie AT & ary &
(1) 27A (2) 37A
(3) 037A “4) 027A

g H Webiel /) GEG H x G qU1 Y oA Hieqw

" 1) §9g ¥ 10x T T BT &1 39 qegw b oy
ohicich vl el & 7

(1 sin—l[l(%j @) sinl[lé—ltzj
3) sin_l[lo—llj @) sinl(tlj
) Ul

T g R b FEHE (0.4+0.002) g, B
(03+0.001) mm qar =g (5+0.02) cm ¥
a9 &b WO H Sifehan dHa Jfe @I B
(1) 13% (2) 1.6%

(3) 14% 4) 12%
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For Young’s double slit experiment, two

statements are given below:

Statement I : If screen is moved away from the

plane of slits, angular separation of the fringes

remains constant.

Statement II : If the monochromatic source is

replaced by another monochromatic source of

larger wavelength, the angular separation of

fringes decreases.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
false.

(2) Statement I is true but Statement II is
false.

(3) Statement I is false but Statement II is
true.

(4) Both Statement I and Statement II are
true.

The half life of a radioactive substance is

20 minutes. In how much time, the activity of
|

substance drops to (Ej of its initial value?

(2) 60 minutes
(4) 20 minutes

(1) 40 minutes
(3) 80 minutes

The equivalent capacitance of the system shown
in the following circuit is :

3uF
3uF
e e
3uF
(1) 3 uF (2) 6 uF
(3) 9uF (4) 2 uF

Resistance of a carbon resistor determined from
colour codes is (22000i 5%) Q. The colour of

third band must be :
(1) Green
(3) Yellow

(2) Orange
(4) Red

An ac source is connected to a capacitor C. Due
to decrease in its operating frequency :

(1) displacement current increases.

(2) displacement current decreases.

(3) capacitive reactance remains constant

(4) capacitive reactance decreases.
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% UHIUI Hid 9 950 e S &, et @1 dreie
TRy e 1

IS BUAl P TaH §, W @ T faeedt & 9
ST g ¢

(1) <= w19 w1 orac

(2) ®=W 199 § g Fa 1 3@ 2

(3) = 1 o ¢ Uty & 1 9 3|

(4) I F@ 19 F29 11 99

% (fsarafeea ard @ ot g omg 20 fie 31 fopaw
a9 § uared oruHl URfie AT & %%f‘mﬂa’ca

ferafeq & wimar &7
(1) 40 fiFe
(3) 80 fiFe

(2) 60 fire
4) 20 e

Frefaiaa ufvae & yeiifa frem o ger aifan @ -

3uF
3uF
4 °—| |7 — B
3uF
(1) 3 pF (2) 6uF
(3) 9pF (4) 2pF

Tul B F T R TaT Weh Hral= WiArer &1 wiare
(22000 +5%) Q ¥ TR F5 @ A G AR
(1) = (2) -
(3) (4) e

T ATl | Bl T gentest (C) | WISt T |
D] FAAd ST T 9 ¢

(1) foromos ama sedr 2l

(2) faamos gm e )

(3) uifida wfoema e & 1

(4) et wfoend gear B
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A vehicle travels half the distance with speed
©® and the remaining distance with speed 29 .
Its average speed is:

M 5 @ =
3y 2 2
® 5 O

The amount of energy required to form a soap bubble
of radius 2 cm from a soap solution is nearly :
(surface tension of soap solution = 0.03 N m™!)
(1) 5.06x1074J (2) 3.01x104J

(3) 50.1x1074J (4) 30.16x1074J

The venturi-meter works on :

(1) Bernoulli’s principle

(2) The principle of parallel axes

(3) The principle of perpendicular axes
(4) Huygen’s principle

In hydrogen spectrum, the shortest wavelength
in the Balmer series is ). The shortest
wavelength in the Bracket series is :

(1) 4xr 2) 9

(3) 161 4) 2xr

The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 4U (2) 8U
(3) 16U (4) 2U

A full wave rectifier circuit consists of two p-n
junction diodes, a centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?

(1) p-n junction diodes

(2) Capacitor

(3) Load resistance

(4) A centre-tapped transformer

The magnetic energy stored in an inductor of
inductance 4 uH carrying a current of 2 A is :
(1) 4ml (2) 8ml
3) 8uJ @) 4wl
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e e 3el g ar| O | 991 99 g I 29
T A & 3| 3ED! S 9@

M 5 @ =
3y 2 o 2
® 5 @ 3

A & =i | 2 cm 591 &1 9gA B agen a9
% g smasa® eIl B A AOHT ¢ (|EA &6 HiA
1 g8 @ = 0.03 Nm!) :

(1) 5.06x104J (2) 3.01x104J

(3) 50.1x1074J (4) 30.16x1074J

Flmmdt Brf e ®

(1) = fasia

(2) AR e & fagid
(3) wHaEq el & fagia
(4) =E fagid ©W

TIEge Weagd ¥, ST ol &Y =geaw qoTaed ),
¥ 9%z goit & gEaH qoRE

(1) 4n (2) 9%

(3) 162 4) 2

fopet T T @ Rafow &9t U & 99 39 2 cm
diar o ¥ Aty fei & 8 cm Wiar 9™, of 3@d
giaa Rafasr e er

(1) 4U (2) 8U

(3) 16U 4) 2U

e Qo fesesrdt uftqy & &) p-n ©@fY ST,
Heg epl ZEWHT, WGl qo7 Tk @8 Wiaae
T E 130 9 DY 91 " [ShIid Frid o Jemad
s (frer) forgar wean #

(1) p-n @ty s

(2) def

(3) = wfad

(4) uH A el ZEwiET

4 uH UTehe & U H 2 A o7 YaTEd el & 3an

s g o ®
(1) 4ml (2) 8ml
(3) 8ul 4y 4ul
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If cj.)E -dS =0 over a surface, then :
N

(1) the magnitude of electric field on the
surface is constant.

(2) all the charges must necessarily be inside
the surface.

(3) the electric field inside the surface is
necessarily uniform.

(4) the number of flux lines entering the surface
must be equal to the number of flux lines
leaving it.

A football player is moving southward and
suddenly turns eastward with the same speed to
avoid an opponent. The force that acts on the
player while turning is :

(1) along northward

(2) along north-east

(3) along south-west

(4) along eastward

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight W attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

(1) wj4 Q) W/24
(3) Zero 4) 2w/4

The angular acceleration of a body, moving along
the circumference of a circle, is :

(1) along the radius towards the centre

(2) along the tangent to its position

(3) along the axis of rotation

(4) along the radius, away from centre

In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vm'. Then the amplitude of

oscillating magnetic field is : (Speed of light in
free space = 3 x 108 m s71)

(1) 1.6x1078T () 1.6x107'T
(3) 1.6x107°T 4) 1.6x107°T

Two bodies of mass m and 9m are placed at a
distance R. The gravitational potential on the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational
constant) :

) _121(:171 & _16gm
) _2o§m @ _Sim
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A o g% % frg GE-dS-0 ¥ @

(1) 93 9T Iga &= &1 gt Faa 3

(2) A A, YS F < T TS ¢ |

(3) U % "X THAHNH JET & ETD & |

(4) IS H YA B AT G L@rat bl HeAr 39
gl

e Ped(el & faers! Sfor faem &l oY a1 @1 &
3R fatelt & o & fou orame @9 9@ 9 @
%l ST gear &1 Raars! wX omifa 9@ 519 a8 gear
%, @

(1) ITX & &R

(2) ITYE @ AR

(3) afur—afyaw & &R

() TE A R

AT Uh A1 BI {68l B (38 SMYR) | Wb T
T quT 39 god [ 9 W 9 Sige] didn ST § |
A ST HIE FTEA & A & {dl fag uX orgeed
giqaw & —

(1) wj4 (2) w/24

3) @ 4) 2w/4

el g9 @l 9ty W hHE U% Uvs @ s
@ BT

(1) a1 % ogfasl, &% @l o

(2) zHa fafq @ @i & afaa

(3) oA 1@ & erfaar
(4) a1 % ey, % 9 ST B 3N

Teh THAA JEAGIDII TCT o BTSN H Th BT T

¥ 1afy foga & 4g v ! emam qam 2.0x10'0Hz

T X STEh & STTEY QI BT § | 99 g
& % T Bl oW § ¢ (fata § Wty @ A
=3x108 ms)

(1) 1.6x1078T () 1.6x107'T

(3) 1.6x107°T 4) 1.6x107°T

FEHE m T4 9m 6 & vs Uh g F R W
feorq | fost &t ™ aralr Y uy, et edE @
A 3, Tedr fava & (G = e Raxis) ¢

0 _121§m o _161(:171
@ -2 @
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Physics : Section-B (Q. No. 036 to 050)
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In the figure shown here, what is the equivalent
focal length of the combination of lenses
(Assume that all layers are thin)?

n1=1.5
- -2 Ry =Ry=20cm
— Rl —
_4\___ AN o]
ny=1.6—71
(1) —40 cm (2) —100 cm
(3) —50 cm (4) 40 cm

Calculate the maximum acceleration of a moving
car so that a body lying on the floor of the car
remains stationary. The coefficient of static
friction between the body and the floor is 0.15
(g=10ms2).

(1) 150ms™ )
(3) s0ms™ 4

A satellite is orbiting just above the surface of
the earth with period 7. If d is the density of the
earth and G is the universal constant of

1.5ms_2

1.2ms_2

o .. 3m
gravitation, the quantity Gd represents :

(1 72 @ 7

3) T @ T

The x-t graph of a particle performing simple
harmonic motion is shown in the figure. The
acceleration of the particle at =2 s is :

] —_
x (m) 0%\4 6

1(s)
2 ' 8
_IL_____M
2 2
T ) T i)
(D —?ms () Ems
3) T 2 (4)“2 2
—Ems ?ms

For the following logic circuit, the truth table is:

A—[>o—|_
_MDO_

() 4 B Y 2) 4 B Y
0 0 0 0 0 1
0 1 1 01 0
1 0 1 1 0 1
11 1 1 1 0

3 4 B Y 4 4 B Y
0 0 0 0 0 1
0 1 0 0 1 1
1 0 0 1 0 1
11 1 1 1 0
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@ T faw |, @El % S B o Bied gl
1 % (@ o9 gqd A7) 7

nl=1.5
] fjRi=Ry=20em
CIIA\R, LIt
CA- A AR T
ny=16—7I
(1) —40 cm (2) —100 cm
(3) —50cm (4) 40 cm

e T B BT SATUHTH @01 Fd DY MMk
HR F BY W W@ & a5 RO a1 w1 agg qen
wyf & dm &1 wWiges wafo quis 0.15
(g=10m s2)|

(1) 150ms= )
(3) 50ms™ 4) 12ms
% IWIE T SEddd & 91 el ad & b HuT
%! e H wfq fepan sman 81 afs geat @ au e d
aquﬁfﬁzﬁWWﬁ,aﬁuﬁT%
wafdfa & ®

(1 12 @ 7

3) T @ T

XA S TG B §Y Th B BT x-1 T o=t &
T AT ¥ £ =2 ThS UX B B @ B

1.5ms_2

-2

1(s)
2 | 8
B ) IO _
2 2
M -Zms?2 2 Zms?
16
2 2
3y 2 4 T2
(3) T “) g ms
o ™ it afigy @ FQ@ar 9l ©
Do
D
B
(1) 4 B Y 2) 4 B Y
0 0 0 0 0 1
0 1 1 0 1 0
1 0 1 1 0 1
11 1 1 1 0
3) 4 B Y 4 4 B Y
0 0 0 0 0 1
0 1 0 0 1 1
1 0 0 1 0 1
11 1 1 1 0
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A horizontal bridge is built across a river. A
student standing on the bridge throws a small

ball vertically upwards with a velocity 4 ms™!.

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10mS_2) :
(1) 60m ) 64m
(3) 68m (4) 56m

Two thin lenses are of same focal lengths (),
but one is convex and the other one is concave.
When they are placed in contact with each other,
the equivalent focal length of the combination

will be :
(1) f/4 2 f/2
(3) Infinite (4) Zero

A wire carrying a current / along the positive
x-axis has length L. It is kept in a magnetic field

- A A A
B=(2i+3j—-4k) T. The magnitude of the
magnetic force acting on the wire is :

() 51 () SIL
3) I 4) 3IL

A bullet from a gun is fired on a rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along its length

horizontally, velocity of bullet becomes % Then

it further penetrates into the block in the same
direction before coming to rest exactly at the
other end of the block. The total length of the
block is :

(1) 24 cm (2) 28 cm

(3) 30 cm (4) 27 cm

The resistance of platinum wire at 0°C is 2Q

and 6.8Q at 80°C. The temperature coefficient

of resistance of the wire is :

(1) 3x1073 oC! (2) 3x102°c!

(3) 3x1071 oc! (4) 3x1074 oC!

An electric dipole is placed as shown in the figure.
5 cm P

0

I
- +
1 3cm 3cm 1
The electric potential (in 102 V) at point P due
to the dipole is (€)= permittivity of free space

o (3o
o (o

and ! =K):

47 S

) [(3]ax
o (g

®| L W]
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T 4l U TS Afast §a ST 1§ 1 YA 9 @Sl
Th B 4ms_1%aﬂﬁ@@ﬁﬁ?@wfwi

U B AT Febal ¥l 45 9€ AT T B GaE
THAA! &1 I B FaE ¥ S A B HA ©

(gZIOms_2 Fﬁﬁm) :
(1) 60m (2) 64m
(3) 68m (4) 56m

T T BIbd g4 (f) & & Iaq9 «d 8, g Th
IAA 9 TN AW & | 9 I Ueb qEL % T A W
WA E, q EET B e Wihd gl Bl

(1 f/4 2 f/2

(3) &ra @ =

L =TS % T dX § ] 90 x-3187 Bl gD (&9
% orfeyr yarfed Bl ¥ 3@ Uk gEHE &S

B=(27+3)—4k) T ¥ Tan o ¥ | R 0 HTR
TEDHI TA BT GAATT

() 51L Q) 5IL

3) VI 4) 31IL

TGH B TS TNl Abs! b Ueh STAADBI J2oh UT
AT TN S S| T M qeh A afast feem F 24

om & S ¥, Tt 1 3 < A 17 7 G

T 9 g4 d% SHl G 7 @eg &l e qEdl was
Tb NSl ¥ [Eh BN FA TG &

() 24 cm (2) 28 cm

(3) 30 cm (4) 27 cm

wfes® & qe &1 wfadie 0°C 9x 2Q qar 80°C WX
6.8Q 2| A & FhY a9 NS ¢

(1) 3x103°Ccl  (2) 3x10°2°C!

(3) 3x10-1eCcl  (4) 3x104 °C-!

% da faga fas § waldfa ¥ faga & ero fag
P ux ferega fawa (102V ) ¥ (=9 amapiar &

ERGEISRIGR Tne, =K):
5 cm P
0
° } ® [
- ~ > /+
g 3 cm 1
8
(2) (gj qK

3 cm
o {)
o (2
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10 resistors, each of resistance R are connected
in series to a battery of emf £ and negligible
internal resistance. Then those are connected in
parallel to the same battery, the current is
increased »n times. The value of # is :

(1) 100 2) 1

(3) 1000 @) 10

A very long conducting wire is bent in a semi-
circular shape from A4 to B as shown in figure.
The magnetic field at point P for steady current
configuration is given by :

-
————— A
R
P
i«
————— B
ol .
) iR pointed away from the page
Roffy 2
(2 7g | pointed away from page
wol, 2]
(3) 2R — | pointed into the page
H()i . .
4) IR pointed into the page

The radius of inner most orbit of hydrogen atom

is 53x107"" ' m. What is the radius of third
allowed orbit of hydrogen atom?

(M 1.06A () 1594

3) 477A @ 053A

The net impedance of circuit (as shown in figure)
will be :

e

— mH 3
T 10
T hF
()
&
220 V, 50 Hz

2) 550
@ 10420

(1) 150

(3) 250

F6 Hindi+English |
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b THE " R % 10 wfaqet &t E faega aws
IA qUT TG SAAND FAUY Bl T 921 & ad
guit A § W TN ¥ W9 3% 9N S21 & @iy
A A | SIST ST @, @ & 72 T 81 Sl 5
nH AN T
(1) 100

(3) 1000

@ 1
) 10

weifa fasr % SR U @ awed aX B 4 ¥ B
b TS JaThX MBI ¥ #eT T ¥l Rex gra

i

G) 451-2) o e i

4 i—%ﬁaﬁwﬁrw

BFSISH UXAIY] & G9H SATih bel Hl e

53x107 ' m ¥ erggioT ) @ el s
HeT i Browr @@ ¥ 7

(M 1.06A () 1594

3) 4774 @ 0534

gieay (S fop fasr o wefdfa &) o afvomr widqaren
2

220V, 50 Hz
) 550

@ 10420
[ Contd...

(1) 150
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Chemistry :

Section-A (Q. No. 051 to 085)

51

52

53

54

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Metallic sodium dissolves in liquid

ammonia giving a deep blue solution, which is

paramagnetic.

Reasons R : The deep blue solution is due to

the formation of amide.

In the light of the above statements, choose the

correct answer from the options given below :

(I) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

The conductivity of centimolar solution of KCI
at 25°C is 0.0210 ohm™! cm™! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 3.28 cm™ (2) 1.26 cm™!

(3) 334 cm (4) 134 cm™!

For a certain reaction, the rate = k[A]2 [B], when

the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would

(1) increase by a factor of six.
(2) increase by a factor of nine.
(3) increase by a factor of three.

(4) decrease by a factor of nine.
Identify product (A) in the following reaction :

*QQY

Zn— Hg
conc. HCl

UQ

+ 2H20

CH,
®)
CH,4

4) /\O/@\/
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I 31w faw T ¥ | U B SR A’ SR gEt
H ‘@Frw R’ fafea fear man &)
afram A : gifes ifsad 59 oIl § gahl
TEL A 1 & faeae <ar 3, o g BT )
W%R:Wﬁwﬁwwaaaﬁﬁsm
|

TUT T T HUAl & MR IR, 9 U T ot
¥ ¥ w8 IO :

(1) %@?%TR ‘ém%‘,tr{gR,Aa%aﬁaaT@m
(2) A @™ ? uig R oA 3
(3) A @™ § g R 9 2|

4) AaﬁTRﬁW%aﬂTR A & G e B

25°C wx KCl % HImiex faw@as & araswsdr
0.0210 ohm™! em™! ¥ &k 25°C WX fq@as
A BT Ffaag 60 ohm ¥ | ¥ Rexiss &1 AW % ¢
(1) 3.28 cm™! (2) 1.26 cm™!

(3) 3.34 cm™! (4) 1.34 cm™!

fepey fafdre arfufepen & o,

am = k[A]’ [B] ¥ 151 B @\ qisan & ek w@d gUA
%! UTHe FiEaT A AT S 8, @ ariHe 9 —
(1) & % 7% g 96 S|

(2) % U W IE QM|

(3) 9 % T B T S

(4) % UH A T SACMI

Frfafaa sifufrar & S (A) &1 gsaTt)

Ay

Zn— Hg
qis, HCl

| o
R

ﬂg&

[ Contd...
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55  Which one is an example of heterogenous
catalysis?

(1) Hydrolysis of sugar catalysed by H* ions.

(2) Decomposition of ozone in presence of
nitrogen monoxide.

(3) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

(4) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

56  Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

57 Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH,, AICl, BeCl,, CCl,, PCI; :
(1 2 (2) 4
3 1 “4) 3

58 The correct order of energies of molecular
orbitals of N, molecule, is :

(1) ols<o'ls<o2s<o" 2s<c2p, <
(TCZpX =7 2py)<(1‘t*2pX = n*2py)< c" 2p,
(2) cls<c'Is<o2s<c 2s<o2p, <
c" 2p, <(7t2pX =7 2py) <(Tt*2px = n*2py)
E *
(3) ols<o Is<o2s<o 2s<(n2pX:n2py)<
(TC*ZpX :n*2py) <c2p,< ¢ 2p,
%k *
(4) ols<o Is<o2s<o 2s<(n2px:n2py)<

o2p, < (n* 2p, = n 2py) <c" 2p,

F6 Hindi+English | 12

55 fr=fafad & @ eF-—ar faumil SEo &1 Iame
¥?
(1) & & HY emasi g SAfa Stefgeres
(2) TN HFEEES B SuRdafd ® oM @t
kLt

(3) wEF gitfa sma & Sulafa & st/ a9
& TT SR SR SReEgH % 9ia gaer
(4) EISH % oTddTEs! @l SuRAfd W AEh
STISNTFTATZS BT Teh{ ZISATFATZS H STTRIh T

56 rd d1 wue faw T ¥ 1 U Al afimeR A’ SR gEt

B ‘@Fro R’ fafea fear man &)

AfFF A : MA@ & BN F AferaH By

SRS H1 T BT & [T IURT fopan o 31

F1 R : Afeem & 0, ¥ 3w foaigar adr 31

FUX fau 1T YAl % ER W1, 9 f§u T faeeat

H ¥ w8 I g

(1) A SR RIA 6 ¥, T R, A &l 921 e
T 7

(2) A¥d 2 9g R 3@ 3|

(3) A @™ ¥ Uig R 9 2|

(4) A 3R R 9 ¥ oiX R, A &1 921 =qme
.

57 frafaed § 9 39 Wi & $a der i s
TRATY] % TR HIST H SHb AR ST S Tzl
T E T
NHj;, AICL,, BeCl,, CCl,, PCI;
(1 2 (2 4
3) 1 4 3

58 N, &19] & foQ nfvadh dHarnl dl Seiiell w1 wel wm
2

(1) cls<oc'ls<o2s<oc" 2s<c2p, <
(n2px =7 2py)<(7c*2pX = TE*Zpy)< c" 2p,
(2) ols<o'Is<c2s<o" 2s<o2p, <
¢ 2p, <(712pX =T 2py)<(n*2pX = n*2py)
3) G]S<G*]S<GZS<G*ZS<(n2pX:Tt2py)<
(71*2px = 7r*2py)<c52pZ <g" 2p,
4) Gls<c*ls<625<6*25<(n2px:n2py)<

c2p, < (n*2px =" 2py) <o 2p,
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Match List - I with List- IT :

List-1 List - 11
A. Coke I.  Carbon atoms are
sp3 hybridised.
B. Diamond II.  Used as a dry
lubricant
C. Fullerene III. Used as a

reducing agent

D. Graphite IV. Cage like
molecules

Choose the correct answer from the options
given below :

(1) A-IV, B, C-II, D-III
(2) A-IIL, B-I, C-1V, D-II
(3) A-III, B-IV, C-1, D-II
(4) A-IL, B-1V, C-I, D-III

The number of ¢ bonds,  bonds and lone pair
of electrons in pyridine, respectively are :

(1) 12,3, 0 2) 11,3, 1
3) 12,2, 1 4 11,2,0

The element expected to form largest ion to
achieve the nearest noble gas configuration is :

() F (2) N
(3) Na 4) O

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Both A and R are true and R is NOT the
correct explanation of A.

A is true but R is false.

A is false but R is true.

Both A and R are true and R is the correct
explanation of A.

)
3)
“)
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T -1 & gt - 1 % @y fras i)

T -1 T - 11
A. ®F [ e 9T
sp> H&d B ¥
B. @ II. g &Eh & &9
# SHEnT fpa S 2
C. padiw Il 3(uamEds ol Hifd
SEnT feRar S §1
D. ¥wrEe IV. TS &1

H fr T P ¥ & e g
(1) A-IV, B-I, C-II, D-III
(2) A-IIL B-I, C-1V, D-II
(3) A-IIL B-1V, C-I, D-II
(4) A-IL, B-1V, C-1, D-III

fifdm 4, o omEdl, n oEdl o sWEEl &
T Al bl T HHT,

(1) 12,3,0 ) 11,3,1

3) 12,2, 1 4 11,2,0

qE T A SFIAFC: heaw I 9 o=
HT & [0 g9 e 981 AT S, &

(1 F (2) N

(3) Na @ O

BRI DR R R SRR £e 2 N | LS K
& ‘®rw R’ fafea fear man g

st A fordt sifufsean & g afpaor =it &
gl 2

FRO R : afeRe e gR1 SEenid gAad
Sffafier St @ A a8 Il Sl agal 94 &
A B WY, AR Hell bedrdl 2|

FUX fau T Ul % a9y, 9w T faeeat

# H /I g

(1) A3 RIA 6 ¥, oig R, A & 921 =
T

(2) A¥d 3, wg R 3@ 3|

(3) A o™ %, 9w R 97 31

(4) A 3R RIA 9 § 3iX R, A &l 921 Sme
]
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63

64

Consider the following reaction and identify the
product (P).

CH, — CH — CH — CH,
|
CH, OH

3 — Methylbutan—2 — ol

—HBr  product (P)

(1) CH, CH=CH -CH,

(2) CH,-CH-CH-CH,

| \
CH3 Br

e
CH, - ? ~CH, Br
CH

3)

3

Br
\

CH; - |C —CH, - CH;,
CH,

)

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

cell? value

Assertion A : In equation A G = -nFE
of A G depends on n.

Reasons R : E_, is an intensive property and

A.G is an extensive property.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Both A and R are true and R is NOT the
correct explanation of A.

(2) A is true but R is false.

3)

)

A is false but R is true.

Both A and R are true and R is the correct
explanation of A.

F6 Hindi+English |
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frefafaa erfufrar w faem #ifvie ik saE (P)
CARES i1

CH, — CH — CH - CH,

| | HBr
CH, OH > 5= (P)
3 — A= ET— 2 — offd
(1) CH;CH=CH - CH,
(2) CH;-CH-CH-CH,
| |
CH3 Br
T
(3) CH;-C-CH, Br
|
CH,
Br

|
CH, —‘C—CHz - CH,
CH,

)

I 31w faw T ¥ | U B ‘afimeR A’ S gEt

H ‘@ R’ fafea fear mn &)

st A @@ A G=-nFE, & A G @

A n 9 4T Fa 2

FR R : By WE1-0s e & 3 A G T

AT JOTE B

FU o0 T HUAl & SER WX, T few Mo faemet

# ¥ w8 I g

(1) AR g ¥, aig R, A &I 91 =re
& B

(2) A 93 ¢ 9{g R @A 2|

(3)

4)

A 3Ed § T R 9 2|

A X RN 9 ¥ 3R R, A &1 &1 =
T

[ Contd...



65  Which amongst the following options is correct

graphical representation of Boyle’s Law?

1 i
P
1
() T,>T,>T,
1
A —>
T 13> 1> T,
P
) T,
T
T]2
N\
1 >
\Y%
AV
y Iy,
T .
P
3)
V, <V,<V,
AN
T—
N
T T3> T,y T,
P
4)
T,
T
.y
EAN
vV—> 7
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Fr=fafad § @ sF-—a1 S19d & 9E &1 T8 AHE

g %7

v —>

M

o —

2

o —

3)

o —

)

T,
T3>T2>T1
N\
K —>
;> 1,> T,
TT3
le
1 >
AY/
Vi
V)
V3
V<V, <V,
/
T—
N
T,>T,> T,
T,
T
P
T3\
vV—>
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In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which
gives blood red colour with Fe3™ due to the
formation of -

(1) NaSCN

Q) [Fe(CN)5 NOST’

3) [Fe(seN)]*
(4) Fe4[Fe(CN)6]3 -xH,0

Identify the product in the following reaction :

+
N2 Cl
(i) CuyBry /HBr
(ii) Mg/dry ether Product
(iii) H,O g
MgBr

Q) @ ) @
OH OH
<> 4 @

Br

Select the correct statements from the

following :

A. Atoms of all elements are composed of two
fundamental particles.

B. The mass of the electron is
9.10939 x 10731 kg.

C. All the isotopes of a given element show
same chemical properties.

D. Protons and electrons are collectively
known as nucleons.

E. Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options

given below :

(1) C, D and E only

(2) A and E only

(3) B, C and E only
(4) A, B and C only

F6 Hindi+English |
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ferell aiftter & o frsmd & e ofR ewT aMt
Sufterg € &Y Fed™ & ary frefafad & a7 & &rw
T B Hifd @ T I )

(1) NaSCN

Q) [Fe(CN)SNOST’
3) [Fe(seN)[**
4) Fe4[Fe(CN)6L . xH,0
fr=fataa sfufsear & S & geatyw)
+ J—
N> Cl
(i) CuyBry /HBr

(i) Mg/gmder_
(iii) H,O

MgBr

) @ ) @
oH OH
© ) @

Br

frfefad & 9§ 981 ®uAl &1 999 BN

A. Hﬁa@%wawwmaﬁ@?f%|

B. A & G| 9.10939 x 10731 kg &rar
g

C. Tt aa & ol aente g9 Tame Jorad
yaiifd &3 ¥

D. Wl iR ezl &l Yo 0 d el
HEd B

E. sleed & gt fHgid 3 awH] &l & & qa
% &% ®Y H HET

Ia few o fawedt & ¥ W SAX g ¢

(1) ®a@ C, D3R E

(2) ®ad AR E

(3) &aw B, C 3R E

(4) ®ad A, B &R C
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A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound

is AXBy, then the value of x +y is in option
(1 4 2) 3
) 2 (G

Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1" position of sugar is known as

nucleoside
Statement 1II :

phosphorous acid at 5"-position of sugar moiety,

we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement II is false.
(3) Statement I is false but Statement II is true.
(4) Both Statement I and Statement II are true.

Which amongst the following molecules on
polymerization produces neoprene?

Cl

|
H,C=C-CH=CH,

H,C=CH-C=CH

CH

|
(3) H,C=C-CH=CH,

(4) H,C=CH-CH=CH,

Taking stability as the factor, which one of the
following represents correct relationship?

(1) Inly > Inl (2) AICI > AICI4

(3) TI > Tl (4) TICI; > TICI

Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Meprobamate (2) Valium

(3) Veronal (4) Chlordiazepoxide

Which of the following statements are NOT

correct?

A. Hydrogen is used to reduce heavy metal
oxides to metals.

B. Heavy water is used to study reaction
mechanism.

C. Hydrogen is used to make saturated fats

D

When nucleoside is linked to

Q)
)

3

from oils.
The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) B, D only

(3) A, B, C only

(2) D, E only
(4) B, C, D, E only
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T AT aF @l A iR B g a9 gon 31 d@ B

T Tfas d@giad d3an 99T 8 8 A &% 93]

1/3 feferal & wxa B afs A & g

AB, B fadbedi § & x +y &1 AE B

(1) 4 (2) 3

3) 2 4 5

&1 %o fag T ¥

FA 1 : fopelt e & s 7 1 Rafd e &

fffa sos @ gfermenags wed 2|

FF 11 : 99 Jlereianss b arafer o 5 ' -Rafa

W@mwgﬁwwﬁw%ﬁgﬁq&mﬁaﬁw
|

FU U MU FHAl & YR WX A U Ty fawmet

# H q I G|

(1) == 18R Fa 1 SHY o 2

(2) w1 8@ T wig w11 36 Bl

(3) @ I o\ & g &= 1 8 3

4) F[ 1 R w1 I 91 9 T

frefafad & & &9 9gddT He7 U iU
IS HOM?
Cl

|
(1) H,C=C-CH=CH,

(2) H,C=CH-C=CH

CH

|
(3) H,C=C-CH=CH,

(4) H,C=CH-CH=CH,
TR & H® W g, Frfaread 9 & dF-—-a1 &

GaY qad bl T 7
(1) Inl; > InI

3

(2) AICI > AICI;

(3) TI> T, (4) TICl; > TICI
ﬁ%@qamxgﬁa@ﬁﬁqw%lsﬂﬁ%aﬁﬁm
idepiza @

(1) o (m AT

(3) I (4) FASTZAUTRIES

ﬁmﬁﬁi@mﬁ%ﬂ?ﬁ%maﬁaﬁq@r%?
BTEZIS 1 SYANT | 4Tq SierTgs! Bl argatt
ﬁaqﬁraamﬁ%ﬁmﬁww%l

A ST T ST SITHshaT fehatfatyr & steads
% fog fopan smar 3

TSSO H1 SUAN qal & T T &l 9
fopan s 31

Al T & a1 TS & S ThA AEY
ggmﬁHHawaﬁaﬁmwﬁﬁw
|

sy
ié"

e

A | oty fopanslir ergen &
[ 0 srafgd &Il 1
Wﬁwﬁﬁ%mwwgﬁq:
B, D (2) %aa D, E

A, B (4) @aw B, C, D, E
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Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

A. dipole - dipole forces.

B. dipole - induced dipole forces.

C. hydrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

(1) A, B, C, D are correct.

(2) A, B, C, E are correct.

(3) A, C, D, E are correct.

4) B, C, D, E are correct.

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) H,O (2) BFy
(3) OH~ (4) NH;

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

| caco, 200K, cao 1 o, |

(1) 1.76¢ (2) 2.64¢
(3) 132¢ 4 1.12¢g

The relation between n,, (n,, = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/), is

(1) I=2n_+1 @) n, =2%+1

nm—l

(3) n_=l+2 4) 1=

The stability of Cu?* is more than Cu™ salts in
aqueous solution due to -

(1) enthalpy of atomization.

(2) hydration energy.

(3) second ionisation enthalpy.

(4) first ionisation enthalpy.

Which one of the following statements is

correct?

(1) All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

(2) The bone in human body is an inert and
unchanging substance.

(3) Mg plays roles in neuromuscular function

and interneuronal transmission.

(4) The daily requirement of Mg and Ca in the

human body is estimated to be 0.2 -0.3 g.
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(2) BF;
(4) NH;

20% & AT T &b 20 g B TH & d IA
CO, % 5=HM @ AU |& {aqebeq & : (Ca &l TTHY
Feaa™ =40 ?))

| caco, 20K, ca0-+.co, |

(1) 1.76 ¢ (2) 2.64¢

(3) 132¢ 4) 1.12¢

i waieq g (/) & et fiu o 9= & fag
n, = (eoE @&GieH d&r (m) & FIAT qH Dl
&) & 99 99 &

(1) I=2n_+]1 @) n_ =2"+1

3) n_=l+2 4) [=1m
3) n,= @ I= 5
S o & Cu?™ @aoy &1 it Cu™ waont
g offyes ffafiad & &R ean &

(1) & Tl

(2) TEENH Sell

3) e emaee Tt

(4) 9w o TR

frfafag ®uet & 9 B @& &7

(1) o9& ol S ®iehe W 3§ ATP &
IUANT BT ¥, b [T G592k % &4 ¥ Ca
MEH 2 |

AE X H E TH ST 3T Siiad-eiie
LHORS

Mg siaraifsara gt srdgomdr &fi
XAt o § fesr frmar ¥

AME SR & Mg @R Ca &1 3o smagdehar
02-03 g o @ T ¥

)
3)
“

[ Contd...



81

82

83

84

85

Which of the following reactions will NOT give
primary amine as the product?
(i) LiAIH 4
(1) CH3CN W) Product
(i) LiAIH,

() 10 Product

(2) CH,NC
(i) LiAIH,
(i) H30 @

(4) CH, CONH, —22 KM, proquct

(3) CH,;CONH, Product

The given compound
CH=CH-CH-CH, CH,4

o —

is an example of .
(1) aryl halide (2) allylic halide
(3) vinylic halide (4) benzylic halide

Complete the following reaction :

OH
0 __HCN
o= XK
[B]

[A]
conc.H2$O4 .
A ’[C]
[Cli$ — .
0 QCOOH
o Chron
® @COOH
o O

Homoleptic complex from the following
complexes is :

(1) Diamminechloridonitrito - N - platinum (II)
(2) Pentaamminecarbonatocobalt (III) chloride
(3) Triamminetriaquachromium (III) chloride
(4) Potassium trioxalatoaluminate (III)

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is :
(1 32
3) 18

(2) 30
4) 16

F6 Hindi+English |
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fratateaa stufpaell § & HE-Hl 3AE & &9 H
e THIE @ T ?

(1) CH,CN Eif)LP‘[’;gHg) T
(2) CH,NC E:l’)L]j;g{g T
(3) CH,CONH, Eif)‘;’;“é T
(4) CH, CONH, —2/ XM, 5arg
e man At

CH=CH - C|H ~CH, CH,
X

P THh SETEL & |
(1) uha s (2) tfafdes FaEs
(3) antie tomes (4) e toss

frrtefaa siffshan @ qu it

OH
0 HCN
(o= X
[A] [B]

iz, H,S0,, JC]
A

[C] % -

(1) QCOOH
) @CHO
3) @coon
(4) QOH

Frefafaa dgal & @ TMAis TP

(1) sEuTEHFEIREMRER - N - wtem (10)
(2) T=EEFEETmEEE (1) FREs

(3) eEuEmZETEThRtEE (1) wEs

(4) urefimm EeieRghe (1)

Fieaam s B SuRyld ¥ SfEaw TINUS @
qifeTq T3S & T TH B YT T BEHH
qfiTes AT BT ¥, SHh &1 "Wl Bl "I (g)
(1) 32 () 30
(3) 18 ) 16
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Chemistry : Section-B (Q. No. 086 to 100)

86  Consider the following reaction :

HI
e

Identify products A and B.

CH,OH and B = @— I
CH,I and B @ OH

CH; and B=

Ql
CH, and B —@— OH

(1) A=

(2) A=

) A=

@ A=

slelele

87  Which amongst the following will be most

readily dehydrated under acidic conditions ?
OH OH

M e

kS

)

Z
O
[\S)
%Z
Qe
)

o)
s

3)

52
o
N

Q
)

NO

[3e)
.
an

)

m ;
@
e

88  The equilibrium concentrations of the species

in the reaction A+ B=C+D are 2, 3, 10 and

6 mol L1, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)
(1) —13726 cal  (2) —1381.80 cal

(3) —13.73 cal (4) 1372.60 cal
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frafafea & & dF-91 oFE IRRatadl 9 a9y
e ol & fsitaa g ?
OH OH

(1) HZCM

H
NO
‘H
2 OH
OH

NO,

3)

(4) CH,

H

300 K o¥ arfufhar A +B=C+D & @ishst &
U igdrd %A 2, 3, 10 & 6 mol L1 %)
artufspar & fw AG® %: (R =2 cal / mol K)
(1) —13726 cal  (2) —1381.80 cal

(3) —13.73 cal (4) 1372.60 cal
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89  Given below are two statements :

Statement I : The nutrient deficient water bodies

lead to eutrophication.

Statement II : Eutrophication leads to decrease

in the level of oxygen in the water bodies.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement II are
false.

(2) Statement I is correct but Statement II is
false.

(3) Statement I is incorrect but Statement 11
is true.

(4) Both Statement I and Statement I1 are true.

Which amongst the following options is the

correct relation between change in enthalpy and

change in internal energy?

(1) AH=AU +AnRT (2) AH-AU = AnRT
(3) AH+AU=AmR  (4) AH=AU-AnRT

Match List - I with List - II :

List - I (Oxoacids List - IT (Bonds)

of Sulphur)
Peroxodisul-
phuric acid
Sulphuric acid

90

91

A. I. Two S-OH, Four S=0,
One S-O-S

II. Two S-OH, One S=0

Pyrosulphuric ~ III. Two S-OH, Four S=0,
acid One S-O-0-S

D. Sulphurous acid IV. Two S-OH, Two S=0

Choose the correct answer from the options

given below :

(1) A-IIL, B-1V, C-1, D-II

(2) A-L B-IIL, C-1V, D-II

(3) A-IIL B-1V, C-1I, D-I

(4) A-L B-II, C-II, D-IV

Identify the major product obtained in the
following reaction :

@i:\/ AgNH)T+

3 “OH A) major product
o

B.
C.

92

M )

OH
COO™

OH

3) )

@ "
COO™
F6_Hindi+English ]
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89 g @ ®uE fu U R

w1 : dive e S@ e & gawor siar $1
FoA I : AW § Al § SIS &l @Y
e B

TR U T Bl & ey 9T A feu U faenedt
# H /I G

(1) = I 3R Fa= 11 397 e ¥

(2) ® 13  ig 4 11 o 3

(3) = 1 3md & wig Fa 1 9 31

(4) w1 3R wuA 11 1 a7 2|

Frfafaa faeel ® € eF-—a1 e afedy iR
Hiafieh Holl qiads & &g 8 duy ¥ 7
(1) AH=AU +AnRT (2) AH-AU =-AnRT

(3) AH+AU=AmR  (4) AH=AU-AnRT

90

91

g S-OH, I S=0,
% S-0-S
3 S-OH, & S=0
g S-OH, I S=0,
w% S-0-0-S

D. geRg o7@  IV. & S-OH, & S=0
oo feu g fawedt ¥ @ /@ I gﬁq
(1) A-III, B-1V, C-I, D-II
(2) A-L B-IL C-IV, D-II
(3) A-II, B-1V, C-II, D-I
(4) A-L, B-lI, C-II, D-IV

frafataa sifalkan § 9T 9 SdE S 9eEny
O

II.
II.

92

! +2[Ag(NH3)2T +

3-oH—A, IE I

(0]

) )

OH
COO™

OH OH

) 4)
OH

COO™
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Pumice stone is an example of -
(1) gel (2) solid sol
(3) foam 4

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is :

(1) FeO+CO — Fe +CO,
(2) C+CO,-2CO

(3) CaO +SiO, — CaSiO,

(4) Fe,0, +CO —> 2Fe0 + CO,

Which of the following statements are

INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.

B. The highest oxidation number
corresponding to the group number in
transition metal oxides is attained in Sc,04
to Mn,O-.

C. Basic character increases from V,05 to
V,0, to V,0s.

sol

D. V,0,dissolves in acids to give VOi_ salts.
E. CrO is basic but Cr,O5 is amphoteric.
Choose the correct answer from the options
given below :

(1) B and D only

(3) B and C only

(2) C and D only
(4) A and E only

Consider the following compounds/species :

iil.

V.

The number of compounds/species which obey
Huckel’s rule is
(1 6
(E)

Op-=C

vii.

2) 2
4) 4
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Y TR I 3

(1) =i @ (2) 34 @iw &

(3) i @ (4) i @

M & Frpuor & S e 7l § 900 K &

1500 K o8 o S S SATHishan el &1 W@l B, a8

3

(1

2)

3)

“)

frafafaa & & -9 HuT wé T& 27

A. wWisawm & sfafe af @waor ggd MO
STfeRATES ST & S ST Bld 2|

B. HWE W@ % WA ST SR HEAT Hehol
&1 sTreEmEs # Sc,05 & Mn,O, # T 2t
gl

C. V,058 V,0, ¥ V,05 &l 3R 91 W &ard
LI FoaT 5

D. V,0, il ¥ gedt VO, @@ I ¥

E. CrO atE & sWi% Cr,O5 IHge 2|

I3 fow o fowedt # § @& Sax gha:

FeO + CO — Fe + CO,
C +CO, - 2CO
CaO +Si0, — CaSiO,

Fe,0; + CO - 2Fe0 + CO,

(1) ®a@ Bk D (2) &aw C & D
(3) ®awd Bk C (4) &aw AT E
ftaiaa difiresl [ wishsr X fomam sk
v Y
)
Q

ii. ||

Ny
Neoe

TH Tohel [TOH T UTEM i T gl [ avetie
B TG T
(H 6
3 5

Q) 2
4) 4
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What fraction of one edge centred octahedral
void lies in one unit cell of fcc?

ey )

1
4
1

G 3

4

| =

Which complex compound is most stable?

(1) | Co(NH,),(NO,). |

@ |

3) [co(nn } )
[Co(

,(H,0)Br|(NO; ),

CoCl,( }

4) Co

On balancing the given redox reaction,
a CrZO%’ +b SO%‘ (aq) +cH" (aq) >
2aCrt (aq) +b SOi_ (aq) + % H,0(/)

the coefficients a, b and ¢ are found to be,

respectively -
(1 3,8, 1 2 1,8,3
3) 813 4 1,3,8

Identify the final product [D] obtained in the
following sequence of reactions.

i)LiAH, H,S0,
i) H;0% >[A] A

CH,CHO -

> [B]

e (]

>[D]

Na/dry ether

(2) C4Hy,

Q)

(3) HC=C®Na*

.8

“)
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foe @ T Teheh DHITSSHT H Teh BT bl ST<HADT
fifera &1 fepam siyr SuRerd &rar 32

1

) )

1
4
1

G 3

@ 3

Fra g B T o ¥
(1 [CO(NH3)3 (No3)3]

(2) [Cocl,(en), |NO,

(3) | Co(NHs), | 5(s0,);

4) [CO(NH3)4 (HZO)Br](NO3)2

31 TS SUETY SAfhaAT Bl Fdfad B X Th
a, b 3 ¢ HAM: W BT ¥

a CrZO%_ +b SO%‘ (aq)+cH" (aq) >
2a Cr’t (aq)+b SOi_ (aq) + % H,0(¢)

)

) 3, 1
@ 1,3,

3) 8,

arfufspanett & FfaRad w9 & ura sifaw S [D]
CAR EelE

CH,CHO -

8, 1 , 83
1,3 3,8

1) LIAH'I4
i) H;O0% ?

9y

HBr
r [C] Na/grarger

)

@) C,H,

H,SO
[A] ZA 4

Br

>[B]

>[D]

(3) HC=C®Na'

" @/\
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Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

105

106

Movement and accumulation of ions across a
membrane against their concentration gradient
can be explained by

(1) Facilitated Diffusion

(2) Passive Transport

(3) Active Transport

(4) Osmosis

Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

(1) Over exploitation for economic gain

(2) Alien species invasions

(3) Co-extinctions

(4) Habitat loss and fragmentation

Identify the pair of heterosporous pteridophytes
among the following :

(1) Selaginella and Salvinia

(2) Psilotum and Salvinia

(3) Equisetum and Salvinia

(4) Lycopodium and Selaginella

Frequency of recombination between gene pairs
on same chromosome as a measure of the
distance between genes to map their position on
chromosome, was used for the first time by
(1) Sutton and Boveri

(2) Alfred Sturtevant

(3) Henking

(4) Thomas Hunt Morgan

What is the function of tassels in the corn cob?
(1) To trap pollen grains

(2) To disperse pollen grains

(3) To protect seeds

(4) To attract insects

Identify the correct statements :

A. Detrivores perform fragmentation.

B. The humus is further degraded by some
microbes during mineralization.

C. Water soluble inorganic nutrients go down
into the soil and get precipitated by a
process called leaching.

D. The detritus food chain begins with living
organisms.

E. Earthworms break down detritus into

smaller particles by a process called
catabolism.
Choose the correct answer from the options
given below :
(1) B, C, D only
(3) D, E, A only

(2) C, D, E only
(4) A, B, Conly
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el % ST-—UIR |isdl Javural & fa6g =l &l
T SfX THS & Bl [ohaT fehEeh &1 ST Wl ST
bl T 7

(1) g faawm

(2) Tiea uftass

(3) afra afaes

4) g

T Fanee (st agss) § 9 fpe s faeos &
TEY AUl BRI JHT ST 82

(1) onfdfer e & foQ srfaares

(2) Tageht sufe=t @1 smesaor

(3) wE—fagwan

(4) omaEE afq ofik fags=

Frfafad & @ fawrdemes 2iewge & g+ &
TNy

(1) Rysiidar R qreEiar

(2) arEwleT X gredifrar

(3) seFEIgIeT iR qreEifar

(4) wTsRuegg AR Ryasiar

T B IO 9T ST gl b S GRARTSH i sTgra
B WAl 6 9T B g F T H A B, PO W
Tl Rafa &1 7199 &1 ST 999 gBd fhew fean
qr?

(1) ¥ & I

(2) @Hs TEr

(3) b

(4) omg &2 AOH

B B H PaA (3HA) BT RN BRI BT § 7
(1) YXETRTT Bl TS

(2) W @ faaa

(3) sl @ & B

(4) DI B SHEA BT

TE HYAl B qEAINY -

A.  IETRET &I B Wied Bed |

B. 3B g& SiEme & gMd X i sTqeted
Bl & e @isiet &1 S 5l

C. W@ gaeiia Sfbisiies duedh Ja1 § A g
S E 3 sraatua Bt s & fd e wed
gl

D. UG @E §@ar sifad sial  STed Bl 5

E. %gs ARG &l Wied & Bl &u § §&d &l

¥ 9 sumes @ed )
T T ™ faea § ¥ @ sO) g
(1) %a@ B, C,D (2) @&aw C, D, E
(3) %@ D, E,A (4) %a@ A, B, C
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Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Late wood has fewer xylary
elements with narrow vessels.

Reason R : Cambium is less active in winters.
In the light of the above statements, choose the
correct answer from the options given below :

(I) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis?

(1) Pachytene
(3) Diakinesis

(2) Diplotene
(4) Zygotene

Which of the following stages of meiosis
involves division of centromere?

(1) Metaphase I (2) Anaphase Il

(3) Telophase (4) Metaphase |

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out

(1) DNA (2) Histones

(3) Polysaccharides (4) RNA

Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.

(1) Polyadelphous and epipetalous stamens
(2) Monoadelphous and Monothecous anthers
(3) Epiphyllous and Dithecous anthers

(4) Diadelphous and Dithecous anthers

Large, colourful, fragrant flowers with nectar
are seen in :

(1) bird pollinated plants

(2) bat pollinated plants

(3) wind pollinated plants

(4) insect pollinated plants
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T 3 U 57 T ¥ - us FeuaeE A T SR
WA FTRE :

fHeTaTE FUR A UgaerE o "ol arfearstl ate
T WEEH dd B E

F9 R : giéal & Sfvga w9 franelie =@ 21
Suded Bt & fawa ¥, 9 o W fyaed § 4 98
IaX g ¢

(1) AR RIA 9 § 9g R, A &l @& =
& B

A 99 ¢ g R a@d 2|

A 9@ § UGg R 9@ 31

A 3R R T 9 € 3T R, A &1 91 =man
.

e oot & gateran [ & g yraren & geaiter
Tifeprd fe@mll 39 @ ¥ ?

(1) wyvee (2) feeez

(3) R (4) gmuzz

2
3
Q)

frafafaa & 4 srega fawom &t @l yrawen &
s fog @1 fawem anfa § 7

(1) wearaen 11 (2) ugaTEE 11

(3) SraTERa (4) weaTaEe |

AT SLUA.. Tl | JEIBI0T Tkl & G
shae 39eTa fopd sraafa wear & 7

(1) Sroaw Q) fe=m

(3) drd®BES (4) REAQ

T P, e o fafaee 9 fo=1 31 g &
el & %AW T @ B gHTC S diaeEr an
fafeeet & 98 & W

(1) g @i 8RR A Yohay

(2) TH GEHl T THBST GIRTHIT

(3) uftga @ oiX TEdIssl TrmenieT

(4) fegar ot fgaisdt wrmemy

3, CiF, Graged qur Jeiq § ¥RqX g9 T
3G W hd & 7

(1) el quitg urey

(2) TMEE TR uTed

(3) g YR uRy

(4) @I gUid ey
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Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?

(1) Gibberellic Acid

(2) Zeatin

(3) Abscisic Acid

(4) Indole-3-butyric Acid

Axile placentation is observed in

(1) China rose, Beans and Lupin

(2) Tomato, Dianthus and Pea

(3) China rose, Petunia and Lemon
(4) Mustard, Cucumber and Primrose

Among eukaryotes, replication of DNA takes
place in -

(1) S phase
(3) G, phase

(2) Gy phase
(4) M phase

How many ATP and NADPH, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 18 ATP and 12 NADPH,

(2) 12 ATP and 16 NADPH,

(3) 18 ATP and 16 NADPH,

(4) 12 ATP and 12 NADPH,

In gene gun method used to introduce alien DNA
into host cells, microparticles of

metal are used.

(1) Zinc

(2) Tungsten or gold

(3) Silver

(4) Copper

The thickness of ozone in a column of air in the
atmosphere is measured in terms of :

(1) Decibels (2) Decameter

(3) Kilobase (4) Dobson units

Unequivocal proof that DNA is the genetic
material was first proposed by

(1) Alfred Hershey and Martha Chase

(2) Avery, Macleoid and McCarthy

(3) Wilkins and Franklin

(4) Frederick Griffith
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e 1ew BRAM &l T8 SigUTy uredl X fwsdh
q 9 udgerrar e o ol @ fe e o et
9T TadTeT B ¥?

(1) fossifas o

(2) fofe

(3) usHfE o

(4) SI-3-geEita e

welfig e fhad 3@ S ehdT & 7
(1) Tseq, 99 ok g

(2) <HIX, SEUYH 3R "X

(3) T, fughmn &l iy

(4) =&, g iR fmae

ghEE & SUA.U. BT YapiaaT b &ar & ?
(1) Ta sraen (2) G, s
3) G, e (4) ©H JrgeEn

Hiead Th & A D & Th A & HIOUT %
g fea ATP 3R NADPH, &I stmasaear sl
g7
)
2
3
“)

18 ATP &R 12 NADPH,
12 ATP &fX 16 NADPH,
18 ATP 3fX 16 NADPH,
12 ATP 3fX 12 NADPH,

qRIIYT BTt H STEd SLUA.U. Bl AN B
% faQ SiF 7 oty o uged g&q &1 [ o1g & o
AT ?

(1) e

(2) e a1 @

(3) @i

(4) dist

qgEvS X 91 % TH W H S B HeE B
fp| & T W ¥ 7
(1) 8=
(3) fraEd

(2) THMRI
(4) sieEa gie

.UA.U. SME qared ¥ e fagaesa g &
g&ra fepes feam an?

(1) ks B9 i 7l v

(2) T, ffeeigs SR Aepdbrel

(3) faftwa ofik afem

4) wsha Rifea
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In the equation

|GPP_— R = NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is

(1) Respiratory quotient

(2) Respiratory loss

(3) Reproductive allocation

(4) Photosynthetically active radiation

What is the role of RNA polymerase III in the

process of transcription in Eukaryotes?

(1) Transcription of tRNA, 5 srRNA and
snRNA

(2) Transcription of precursor of mRNA

3)

“)

Transcription of only snRNAs
Transcription of rRNAs (28S, 18S and
5.8S)

Which micronutrient is required for splitting of
water molecule during photosynthesis?
(1) molybdenum

(3) copper

(2) magnesium
(4) manganese

In angiosperm, the haploid, diploid and triploid
structures of a fertilized embryo sac sequentially
are :
(1) Antipodals, synergids, and primary
endosperm nucleus

(2) Synergids, Zygote and Primary endosperm
nucleus

3)
“)

Synergids, antipodals and Polar nuclei
Synergids, Primary endosperm nucleus and

zygote

The phenomenon of pleiotropism refers to
(1) presence of two alleles, each of the two
genes controlling a single trait.

(2) asingle gene affecting multiple phenotypic
expression.

3)
)

morethantwo genesaffectingasingle character.
presence of several alleles of a single gene
controlling a single crossover.
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FrfaRaa afietor &
|GPP — R =NPP|
S, UTE wufe SdeddT |
TAAL. w4 wafie IdeddT §
am (R) w4 &7
(1) & o
(2) sTEd '
(3) USHA emEed
(4) gpTEISY Gishd faferor

A § FIaET Bl Uk § S.TA.T,
uiferst 11 &1 r fesr 2iar & ?

(1) tRNA, 5 srRNA X snRNA &I srerad
(2) mRNA & Qi &1 sT@s

(3) %ad@ snRNAs &1 @

(4) rRNA (28S, 18S X 5.8S) &1 Sfa@d

T BT & UINH & S YISl WA & IR
S 3] % foaved & fod smagad 7

(1) s (2) Aty

(3) dtat 4) FHre

angadstt aeul ¥ e Fofad o & e,
fegitma ofiR Brpf @ #en @ €7

(1) wfcreamaid BT, TeTd By ik Jrafis
YUY BEh

TET BTN, A ST T qora hesich
Ik

TETT BITBT, T YOIy dhadh 3T Jroeat

2
3)

“)

LU I Tl BT T 3 B 7

(1) < Teial o SRR, T @ 3T S T Thd
weror o Frafa e B

e Uhdl S Sl 9gd 9 399 UTeul stfvreaferat
BT YT Bl §

3§ offe WM S Tk ThA AU Bl TS
B T

THA WF & Sgd 4wl (W fawed) @
IURYTT S Uh ThA Wi fatm @ s
HIT 2

)

3

“
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Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : ATP is used at two steps in

glycolysis.

Reason R : First ATP is used in converting

glucose into glucose-6-phosphate and second

ATP is used in conversion of fructose-6-

phosphate into fructose-1-6-diphosphate.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

Cellulose does not form blue colour with lodine

because

(1) It is a helical molecule.

(2) It does not contain complex helices and
hence cannot hold iodine molecules.

(3) It breakes down when iodine reacts with it.

(4)

It is a disaccharide.
Which hormone promotes internode/petiole
elongation in deep water rice?
(1) Kinetin (2) Ethylene
3) 2,4-D 4) GA;

Expressed Sequence Tags (ESTs) refers to

(1) All genes that are expressed as proteins.

(2) All genes whether expressed or
unexpressed.

(3) Certain important expressed genes.

(4) All genes that are expressed as RNA.

Given below are two statements :

Statement I : The forces generated by

transpiration can lift a xylem-sized column of

water over 130 meters height.

Statement II : Transpiration cools leaf surfaces

sometimes 10 to 15 degrees, by evaporative

cooling.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement 11

is correct.

(4) Both Statement I and Statement II are

correct.
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A & BuE 5 T ¥ ud Feuas FaH A T e
AU FT R T :

feaaE ®F A TEEEIaE ® T & SuET
Y T ® e )

FRO R : 980 TU BT ST DA Bl T DHE-6-
HERZ H e % Y B ¢ ok gay Tl @
IYANT B [G-6-HT8he Hl Hae(d-1-6-SZHERS |
gfteds & foe ear B

Iude HuHl & e #, T & T T § @ |8
ST gMT

(1) AR RIA 9 % g R, A &l @& =
T ¥

A 9 ¥ U R 3@ R

A 8@ § 9g R 97 3|

A 3 R TFf @ € 8T R, A &l @&l =men
.

YA, ERE & | frase Far T T aar
it

(1) & Th Feeiigd &7 2|

(2) =EY Sfed gsail ol Bl o AN ST
B THSHL Tl @ Gl

(3) SRR ¥ Sithfipar & WX 9T fadfeq =i
ST

(4) 9% UH SEAHSE

TEX @ ATl a1ad H, B —a1 SAM q4/9d & T
& qorl 87

(1) rgHfes (2) it

3) 2, 4= (4) GAj

T STIHA G HIT 7 7
(1) o 7 o9, S 9N & &9 o aifiyeged B 2
(2) < @t S T 91 o sy B ¥ 91 etfege

FB Fe@qul e S|
g g S, S 8RUAY & &Y H offqeged aid

¥
TR e e
FA 1 : aESe ¥ S g U SS@H STHY &
WY % o &l 130 HY. Sar I Fohal B
Fo 11 : aronratara iae & ZI ardiedo gl ol
gaEl &l HN-HHr 10-15 fsl St @ear )
e HeHl & fawg #, 99 @ fawet § @ @@
ST gMT
() F= 1 8R 2= 1 I Taq &1
(2) = 198 % g *a= 1 Tad §)
(3) w1 7@d & utg w1 @&l )
(4) = 1 8% Fa= 11 37 w81 )

)
3
4

3
)
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Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Bright blue colour

(2) Bright yellow colour

(3) Bright orange colour

(4) Bright red colour

The historic Convention on Biological Diversity,
‘The Earth Summit’ was held in Rio de Janeiro

in the year :
(1) 1992 (2) 1986
(3) 2002 (4) 1985

The reaction centre in PS II has an absorption
maxima at

(1) 700 nm (2) 660 nm

(3) 780 nm (4) 680 nm

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : The first stage of gametophyte in

the life cycle of moss is protonema stage.

Reason R : Protonema develops directly from

spores produced in capsule.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both A and R are correct but R is NOT the
correct explanation of A.

(2) A is correct but R is not correct.

(3) A is not correct but R is correct.

(4) Both A and R are correct and R is the

correct explanation of A.

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :

(1) Dedifferentiation

(2) Development

(3) Senescence

(4) Differentiation

Given below are two statements :

Statement I : Endarch and exarch are the terms

often used for describing the position of

secondary xylem in the plant body.

Statement II : Exarch condition is the most

common feature of the root system.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement II are
false.

(2) Statement I is correct but Statement II is
false.

(3) Statement I is incorrect but Statement 11

is true.

(4) Both Statement I and Statement II are

true.
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ufifeam srTgs & Nd S1LuA.T. &1 g o fafeo
# g BT X HAT fe@mry e

(1) a9 e o

(2) T G

(3) Tm@Ien ATEN

(4) THSIEr a«@ T

S fafaear o Ufdqetae a@es Cord afme”’ i
s Rafar o frw ad & gom ar?
(1) 1992 (2) 1986
(3) 2002 4) 1985

9 g 11 # orfafshar s @1 sragnuer s febar 9
BT &7

(1) 700 nm (2) 660 nm

(3) 780 nm (4) 680 nm

T 3 U 50 T ¥ usp FeaaeE U A T 3R
AR RE :

fyTares F A - W9 A gERIGHIg ST 9% @

TUH ST WM ¥ |

FRO R : 9] g § ST Bld & i Wi,

dremopett & @g & fawfaa sa ¥

Swe wuAl & fawa ®, 99 @ W faeedt ¥ 9

ara| 3TY ga ¢

(1) AR RIA 9 & 9 R, A &! @&l =
T R

(2) AdF T Uy R @A 2|

(3) A @™ ¥ UGg R 97 3|

(4) AR RSA 97 ¥ oiX R, A &I 921 e

.

Tdd GIHT YA F UU Hediqe BIISTRIS bl Uk
U il q1esw ® hew 99 & 60 T@r T 13"
AT Bl FIT el ol Tebal & 7

(1) ffadew

(2) uftads

(3) wIErRAn

4) fave=

SIEEAICOEREO IO

F 1 : enfaered ok JTal STfeaTed 918 Hl Sud,
ureul § fediae sgam & Rufa &1 aufs 0 & foag
fopar mar 2

Fo 11 : STEreieared 91 A Jea=l & aavl
¥l

e Hol & fowa &, 99 e fyeedt & 9 @
IaX g ¢

() #F[ 18R F= I I 9T |

(2) =W 198 & utg Fa9 1 o6 51

(3) w1 7@d & ug w1 9 2|

4) F= 1 R F49 11 I 9 2|
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Botany : Section-B (Q. No. 136 to 150)
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Identify the correct statements :
A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

B. Bark formed early in the season is called
hard bark.

C. Bark is a technical term that refers to all
tissues exterior to vascular cambium.

D. Bark refers to periderm and secondary
phloem.

E. Phellogen is single-layered in thickness.

Choose the correct answer from the options given
below :

(1) A and D only

(2) A, B and D only

(3) B and C only

(4) B, C and E only

Match List I with List II :

List I List 11
A. Cohesion I.  More attraction in
liquid phase
B. Adhesion II. Mutual attraction
among water
molecules
C. Surface III. Water loss in
tension liquid phase
D. Guttation IV. Attraction towards

polar surfaces
Choose the correct answer from the options
given below :
(1) A-1V, B-1II, C-1I, D-I
(2) A-I, B-I, C-1V, D-1I
(3) A-I, B-I, C-1V, D-III
(4) A-I, B-1V, C-I, D-1II

Match List I with List II :
List 11

List T
A. M Phase I.  Proteins are
synthesized
B. G, Phase II. Inactive phase
C. Quiescent II. Interval between
stage mitosis and
initiation of DNA
replication
D. G, Phase IV. Equational
division

Choose the correct answer from the options given
below :

(1) A-1V, B-II, C-1, D-III

(2) A-lV, B-I, C-II, D-III

(3) A-I, B-1V, C-I, D-lII

(4) A-I, B-1I, C-1V, D-I
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T HYAl Bl UFAIY ¢

A, TECY WF b MHR & BF B T A G B
S Y& Hid 2|

HeH ® WY § S99 BIA Bl $Holl BId Hel
ST 2

BIA Uh dh-ihl I & Ol Gagdl heay o
T H T SHadl b aW § ygad Bl 8|
Brd, uftad o fedias v & dad & wga
BT 1

E. @AM A H Tk Ud &I el &

Ia @ W fyeen & @ w8 s gh

(1) %a@ A 3 D

(2) @ A, B @R D

(3) ¥a@ B aix C

(4) ¥aw B, C X E

T I & g 1 % ar gAfad sivd

Tl T I

ERNE] I 59 o1 # amardha
e sy

WA ST & 4|

T SATHYIT

C. g& T Il 5 Sfaen § 5 &I 8l
D. fog 5@ IV. geira qael @l 8T Sy
a0 @ ™ faee § 9 98 39X g

B.

C.

D.

A.

B. amEs II.

(1) A-1V, B-III, C-II, D-I

(2) A-III, B-1, C-1V, D-II

(3) A-IL, B-I, C-1V, D-IIl

(4) A-II, B-1V, C-I, D-1II

T I & T I % wY gAfad s

Tl T 10

A. M yraen . OIEAl & dewor

B. G, wrern 1. afha sreren

C. otid orewen I |9gaT S
o sit
S1.UA.T. yfaegpiaad
% AN T & A
AT

D. G, sferen IV. &9 fqume

o fd T e ¥ ¥ W we g
(1) A-1V, B-1I, C-1, D-III
(2) A-1V, B-l, C-II, D-III
(3) A-IlL, B-1V, C-1, D-III
(4) A-IIL B-II, C-1V, D-I
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Which of the following statements are correct

about Klinefelter’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).

B. Such an individual has overall masculine
development. However, the feminine
development is also expressed.

C. The affected individual is short statured.

D. Physical, psychomotor and mental
development is retarded.

E. Such individuals are sterile.

Choose the correct answer from the options

given below :

(1) C and D only

(3) A and E only

(2) B and E only
(4) A and B only

Given below are two statements :

Statement I : Gause’s ‘Competitive Exclusion

Principle’ states that two closely related species

competing for the same resources cannot co-

exist indefinitely and competitively inferior one

will be eliminated eventually.

Statement II : In general, carnivores are more

adversely affected by competition than

herbivores.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement II are
false.

(2) Statement I is correct but Statement II is
false.

(3) Statement I is incorrect but Statement 11
is true.

(4) Both Statement I and Statement II are true.

How many different proteins does the ribosome

consist of?

(1) 60

(3) 20

(2) 40
4) 80

Which of the following combinations is required
for chemiosmosis?

(1) membrane, proton pump, proton gradient,
NADP synthase

(2) proton pump, electron gradient, ATP
synthase

(3) proton pump, electron gradient, NADP
synthase

(4) membrane, proton pump, proton gradient,

ATP synthase
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Feithee? g & fawg § B9 ®uw 8 €7
A. 39 f9BR & 9uH 999 ded ws e (1866)
o femar am

B. us =wfl ¥ wramu@an WX uikad| gar @
el AIET qiigds o =g g )

C. yuifad it B MBI &1 el &1

D. 9mifies, EeMe 3R A (e &6 s
T

E. U9 i s & |

e fd T fyeedt & 9w 39 ghg ¢
(1) da@ C XD (2) %aw B &R E
(3) wad ASRE (4) ®awd A X B

SICESEC ORI DI
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(1) #= IR = II I o ¥

(2) w19 % g 11 o9 2

(3) w1 7@d & Ut w1 T 7

4) F= 1 aR F49 11 I 9 2

EEEE ¥ fpaw - o B ¥ 7
(1) 60 () 40
(3) 20 “4) 80

frafefad & @ HF-H1 SR TERS qE
% fau emasas 77

(1) freet, WM T, WA yaurr, TH.e.3d. Rigg
(2) WM W, sWazE yaurar, Tl e

(3) WRN W, So@z YaUdr, TA.O SN Rigw
(4) e, dEM 9, WM gaurar, ALY Ridw
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Which one of the following statements is NOT
correct?

(1) Algal blooms caused by excess of organic
matter in water improve water quality and
promote fisheries.

Water hyacinth grows abundantly in
eutrophic water bodies and leads to an
imbalance in the ecosystem dynamics of
the water body.

The amount of some toxic substances of
industrial waste water increases in the
organisms at successive trophic levels.
The micro-organisms involved in
biodegradation of organic matter in a
sewage polluted water body consume a lot
of oxygen causing the death of aquatic

)

3)

“)

organisms.
Match List I with List 1T :
List I List II
(Interaction) (Species A and B)
A. Mutualism I. +(A), O(B)
B. Commensalism II. —(A), O(B)
C. Amensalism L. +(A), «(B)
D. Parasitism IV. +(A), +(B)

Choose the correct answer from the options
given below :

(1) A-IV, B, C-II, D-III

(2) A-IV, B-II, C-1, D-II

(3) A, B-I, C-1V, D-II

(4) A-lV, B-II, C-1, D-III

Main steps in the formation of Recombinant
DNA are given below. Arrange these steps in a
correct sequence.

A. Insertion of recombinant DNA into the host
cell.

B. Cutting of DNA at specific location by
restriction enzyme.

C. Isolation of desired DNA fragment.

D.  Amplification of gene of interest using PCR.

Choose the correct answer from the options given
below :

() C,A B, D 2) C B,D,A
(3) B,D,A,C 4) B,C,D,A
Match List I with List II :
List I List 1T
A. Tron I.  Synthesis of auxin
B. Zinc II.  Component of
nitrate reductase
C. Boron III. Activator of catalase
D. Molybdenum IV. Cell elongation

and differentiation
Choose the correct answer from the options given
below :
(1) A-I, B-1II, C-1V, D-I
(2) A-I, B-I, C-1V, D-1I
(3) A-I, B-1V, C-I, D-lII
(4) A-lI, B-I, C-1I, D-IV
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frfafad & & HF—a1 HUT Tl Tl § 7

(1) v@ o orfafvea wifas uered & &R0 S
TS BT & Sil 1A % U Bl S+ BT &
3T wBdIaTeE &I JgTar Ial §1

gUIfd Sieted 9 o 4 ol sifas gig |
ST H ks fd § srEged e g 31
affenfires oufite oia H $w favw qaref b aeq
Y IAOAT A W 9T Sl § Fead el 8
afed 7@ ¥ TGN Sned # Sifas qarei a
UGS HTA el YeHSI HAeh SHTRISTT
Td E e S Sl @ g # S 2

2
3
“

T I & T I 6 e gafad s
T T 10
(TEdEwT) (7 A 3R B)
A.  FEHHITT .  +A), OB)
B. ggHifearn . —A), O(B)
C. JigwmiE geitaar 1. +(A), «(B)
D. uxsiitear IV. +A), +B)

S R R et ¥ @ WA s gRw
(1) A-IV, B-I, C-II, D-III
(2) A-1V, B-II, C-1, D-II
(3) A-IIL, B-I, C-IV, D-II
(4) A-IV, B-II, C-1, D-III

YRS S1LUA.T. % i & geg 9w 9 il ™
g1 3% e B § Fakyd S|

A. XU BT § GAATTST SI.UA.T. &l ST=T:899

B. wiqaweM Tgd g1 ST 6l U fafire o
X BT

C. difsa SgAY @vs &l gu&H HAT

D. WELHR. & IGN &I Y AT ST Bl

CICEE]
I @ ™ fredl § 9 98 IOx g

(1) C,A, B, D (2) C B,D,A
(3) B, D, A, C 4) B,C,D, A
T I & w1 % " gAfad Sy

Tl T 11
A. [ onferas &l |Iawo
B. f5® II. e fEaa &1 a2
C. €™ 1. el &1 Alshamih
D. wfas™ IV. iyt &1 &=

ol faview
A R W fmd ¥ @ W vt ghT
(1) A-II, B-III, C-1V, D-I
(2) A-IIL, B-1, C-IV, D-II
(3) A-IL, B-1V, C-1, D-III
(4) A-IIL B-I, C-I, D-IV
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Match List I with List II :

List I List 11
A. Oxidative I.  Citrate
decarboxylation synthase
B. Glycolysis II.  Pyruvate
dehydrogenase
C. Oxidative III. Electron
phosphorylation transport system
D. Tricarboxylic IV. EMP pathway
acid cycle

Choose the correct answer from the options given
below :

(1) A-I, B-1V, C-1, D-III

(2) A-lI, B-I, C-lI, D-IV

(3) A-II, B-1V, C-lII, D-I

(4) A-IIL, B-1V, C-II, D-I

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A In gymnosperms the

pollen grains are released from the

microsporangium and carried by air currents.

Reason R : Air currents carry the pollen grains

to the mouth of the archegonia where the male

gametes are discharged and pollen tube is not

formed.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : A flower is defined as modified

shoot wherein the shoot apical meristem changes

to floral meristem.

Reason R : Internode of the shoot gets

condensed to produce different floral appendages

laterally at successive nodes instead of leaves.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

Melonate inhibits the growth of pathogenic
bacteria by inhibiting the activity of

(1) Amylase

(2) Lipase

(3) Dinitrogenase

(4) Succinic dehydrogenase
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(1) A-IL B-1V, C-1, D-1II
(2) A-IIL B-I, C-II, D-IV
(3) A-IL B-1V, C-III, D-I
(4) A-IIL B-1V, C-1I, D-I
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IaX g ¢

(1) AR g € g R, A % 921 =qmen
T ¥

(2) A9d 2 9y R @A 2|

(3) A @™ ¥ Utg R 97 3|

(4) AR T ¥ X R, A &l GEl 18 2|

e & B fod T ¥ - U FeTa w9 A § iR

WA FITRE :

e F9F A Th U @l SUAG a b w9 H

afaTitg fepar wmar @ foes wiie At &t ufads

guiry Afes ¥ & o |

FRO R : UUT & U9 dEMId B Sl gat u¥

it % g9 fafe= gedia Sui Ia= & )

U Bl % TeH #, e e N faeedt § @ @

ST gT

(1) AR RIA & € g R, A & 921 e
T 2

(2) A9d 9y R 3@ 3|

(3) A @™ ¥ UGg R 97 3|

(4) AR T X R, A%l T2 e 3

etz Py T H1 e, TR e
# gha B Ve 37

(1) TG

(2) e

(3) eETEAfE

(4) it SrEgim
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Zoology : Section-A (Q. No. 151 to 185)

151

152

153

154

Given below are two statements:

Statement I: A protein is imagined as a line,
the left end represented by first amino acid
(C-terminal) and the right end represented by
last amino acid (N-terminal)

Statement II: Adult human haemoglobin,
consists of 4 subunits (two subunits of ¢ type
and two subunits of 3 type.)

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both statement I and Statement II are false.
(2) Statement I is true but Statement 11 is false.
(3) Statement I is false but Statement II is true.
(4) Both statement I and Statement II are true.

Radial symmetry is NOT found in adults of
phylum
(D) Hemlchordata (2) Coelenterata
(3) Echinodermata (4) Ctenophora

Which of the following statements are correct

regarding female reproductive cycle?

A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.

B. First menstrual cycle begins at puberty and
is called menopause.

C. Lack of menstruation may be indicative of
pregnancy.
D. Cyclic menstruation extends between

menarche and menopause.
Choose the most appropriate answer from the
options given below:
(1) A and B only
(2) A, B and C only
(3) A, Cand D only
(4) A and D only

Given below are statements: one is labelled as

Assertion A and the other is labelled as

Reason R.

Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla.

Reason R: Juxta medullary nephrons have short

loop of Henle whereas, cortical nephrons have

longer loop of Henle.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.
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IO RO DI

F9 I T WO & hedl T (@ § &l Tl B,
GHT ST 40 gUq oAl ot (H-fawr) we et
o sifem erfF e (Ta-fon) fefua &t @)
FA 11: a9 99d EHraieT § 4 UGS g ¥
@ o fpw & SuEs wd & B fReT & Iuws) |
S HYHl b wabtel ¥ 9 faw U famedt o @@
IAT B TIT B

(1) = F= 1 ud 11 or|a &)

(2) = 19 § dfpT w11 38 7

3) FA 1 @ ¥ afes wa= 11 9 31

(4) <= w1 wg I 99 ¥

fpm g9 & Ul ¥ ol wufyfy & ury W e
(1) @A (2) d=
(3) umEAEHa (4) 2w

™ H 9 AR 9 a9k & O § B 9 BUd |98l

g7

A, T-TTEHE WAL AETel ¥ o % QI ashid

gfedHl @ 3&d d% bed & |

B. VoW %gEE 9% AN T I e ¢ B
TSGR wed 2

C. FgaE & STuRAfd T & O ¢ |

D. 9% Fgad TeeE § WHga asb eidm s

A feu e fadedt § @ waq Shua SO @1 999 Bl

(1) %as Awd B

(2) %@ A, Bwa C

(3) ¥a@ A, Cwa D

(4) ¥aa ATd D
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R 2|
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ST BT B
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(1) Atd R 6 € Td R, A &l 981 e &t
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A 99 ¢ WfhT R o9 2|

A 3T § dfhT R 9 2|

AT R 3N 99 € ©d R, A @ 9& e B

)
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Match List I with List IT with respect to human
eye.
List I

List 1T

A. Fovea I.  Visible coloured portion
of eye that regulates
diameter of pupil.

B. Iris Il.  External layer of eye

formed of dense
connective tissue.

Point of greatest visual
acuity or resolution.
Point where optic nerve
leaves the eyeball and
photoreceptor cells

are absent.

Choose the correct answer from the options
given below:

(1) A-1V, B-1II, C-II, D-I

(2) A-L B-1V, C-II, D-1I

(3) A-Il, B-I, C-III, D-IV

(4) A-IIL, B-I, C-IV, D-II

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria

B. Endoplasmic Reticulum

C. Chloroplasts

D. Golgi complex

E. Peroxisomes

Choose the most appropriate answer from the
options given below:

(1) A,CandE only (2) A and D only

(3) A, Dand E only (4) B and D only

C. Blind spot IIL

D. Sclera IV.

Broad palm with single palm crease is visible in
a person suffering from-

(1) Turner’s syndrome

(2) Klinefelter’s syndrome

(3) Thalassemia

(4) Down’s syndrome

Match List I with List II.

List I List 11
A. P - wave I.  Beginning of systole
B. Q - wave II. Repolarisation of
ventricles
Depolarisation of atria
Depolarisation of
ventricles

C. QRS complex III.
D. T - wave IV.

Choose the correct answer from the options
given below:

(1) A-1V, B-III, C-1I, D-I

(2) A-IL, B-1V, C-I, D-1II

3) A-I, B-II, C-III, D-IV

(4) A-lI, B-I, C-1V, D-II
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AMG 7= & da § T 1w g 1 & a1y gatad

HU

T 1 T 11

wifern I 95 & 3@ arg G

AN S GiUd & mE Bl

Frafa & #
I B AR G S g
TS Sak ol §ol
Bl B
Sfehad g9 deuTar Al
faves &1 fag)
fag ==l @ & — dfa
Tl 1 Bredl &
3T =T webrr WAL
FHIRTHT SFURYT BIal 2 |
T fau T e § 9 @€ SO @ 99T B

A.

(1) A-1V, B-II, C-II, D-1
(2) A-l, B-1V, C-11I, D-II
(3) A-IL, B-I, C-III, D-IV
(4) A-II, B-1, C-1V, D-II
= A 9 o ofa: T o= @1 wEr T AW W
¥?

A. IR

B. oidsadt Sifer

C. U«

D. Ticelt afwg

E. udedEm

= faeedl ¥ 9eR Sta SAX @1 99 Bl
(1) %aa A, CTd E (2) ®ad ATd D
(3) %aw A, Dud E (4) %aw Bud D

e difsd =afer & U o B9 & 1 AeT B8
(<1 | <

(1) =i fagm
(2) weETheeT fg™
(3) dafr
(4) = fagm
T 1 & g 1 & a@rg gAfad &

Tl T 11
A P-—am I U&ad &
B. Q- ad . fear @ srga
C. QRS @fAg 1. arfeal @t fageaon
D. T - at V. Fe=i &1 faga
A fiu U faeeal § @ W@ SO B g9 HA|
(1) A-1V, B-III, C-II, D-I
(2) A-IL, B-1V, C-1, D-III
(3) A-lL, B-II, C-III, D-IV

4) A-lI, B-I, C-1V, D-lI
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Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) Gonorrhoea (2) Hepatitis-B

(3) HIV Infection (4) Genital herpes

Match List I with List II.

List I List 1T
(Cells) (Secretion)
Peptic cells [.  Mucus
Goblet cells 1. Bile juice

II.
V.

Proenzyme pepsinogen
HCI and intrinsic factor
for absorption of
vitamin B,

Choose the correct answer from the options
given below:

(1) A-I, B-I, C-II, D-IV

(2) A-I, B-I, C-1V, D-1I

(3) A-IlL, B-1V, C-I, D-III

(4) A-1V, B-III, C-II, D-I

Oxyntic cells
Hepatic cells

SOw»

Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A: Endometrium is necessary for

implantation of blastocyst.

Reason R: In the absence of fertilization, the

corpus luteum degenerates that causes

disintegration of endometrium.

In the light of the above statements, choose the

correct answer from the options given below:

(I) Both A and R are true but R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.

Which of the following is not a cloning vector?
(1) YAC (2) pBR322
(3) Probe (4) BAC
Match List I with List IL
List I List 11
A. Taenia [.  Nephridia

B. Paramoecium 1. Contractile vacuole
C. Periplaneta II. Flame cells

D. Pheretima IV. Urecose gland
Choose the correct answer from the options give
below:

(1) A-I, B-II, C-1V, D-III

(2) A-III, B-II, C-1V, D-I

(3) A-IL, B-I, C-1V, D-III

(4) A-1, B-II, C-III, D-IV
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o o @ @ @ g A "R A At st
T T WY SR SR S ¥ IYAR & S a1 gUr:
3 & TWhd § 7

(1) g5 (2) Tpama-B
(3) UTIMEA HEUT  (4) S ureEd
T L &l T 0L & | gAfad &l
T 1 T 11
(risTRTd) ()
A. ufes Hifyred [ oo
B. @@y &y 1L R s@
C. onfedfes Il W& T=agd
EAIElGaw BIESEIEE]
D. feufes IV. wadiua ud
ARG fqaf@ By, &
NI & ferw
A BH

T e T faeedl ¥ ¥ w1 IAX B 99 B
(1) A-IL B-L, C-III, D-IV
(2) A-IIL, B-I, C-1V, D-II
(3) A-IL B-1V, C-1, D-III
(4) A-IV, B-IL, C-II, D-I

I 31 o ol T ¥ ue afvmeR A ¥ qE R

R %I

HHFI Az HIREBYE! % AW b foag THieRT sidwX

AT T

FrO R: Fuee & suRafd o diae s &1 3@

BT ¥ Fied &R sia&R &1 fawsa @ §ar §)

S HeAl & yenlel #, W oy U fgeedt § |

I IR BT TIT BAU

(1) ATd RIEI 9 & wd R, A &1 T2 e 8t
1

(2) A 93 ? dfeT R o0 |

(3) A @™ T WieT R 9 R

(4) Awd RIFE 9 § wd R, A &I 98! 1€ 2 |

= § 9 BN ST daed el § 7

(1) YAC (2) pBR322
(3) W (4) BAC
g I & T 1 % @ gafed s

T T 11
A. Afrmr I gabh
B. i . dgpaasia waam
C. aRwder Il Sarar i
D. wfemr IV. e sy

1 fasedt ¥ 98 SO @ 99T B
(1) A-l, B-II, C-IV, D-III
(2) A-1I, B-II, C-1V, D-I
(3) A-II, B-I, C-1V, D-III
(4) A-L B-II, C-III, D-IV
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Given below are two statements:

Statement I: Ligaments are dense irregular
tissue.

Statement II: Cartilage is dense regular tissue.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
false.

Statement I is true but Statement II is
false.

)

Statement I is false but Statement II is
true.

Both Statement I and Statement II are
true.

3)
)

Which of the following functions is carried out
by cytoskeleton in a cell?

(1) Protein synthesis
(2) Motility
(3) Transportation
(4) Nuclear division
Match List I with List 11
List I List 11
A. Gene ‘@’ I.  B-galactosidase
B. Gene ‘y’ II. Transacetylase
C. Gene 7’ II. Permease
D. Gene ‘7’ IV. Repressor protein

Choose the correct answer from the options
given below:

(1) A-IL B-II, C-1V, D-I
(2) A-IIL B-1V, C-I, D-II
(3) A-IIL B-I, C-1V, D-II
(4) A-IL B-1, C-1V, D-1II

Which of the following statements is correct?
(1) Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.

)

Presence of large amount of nutrients in
water restricts ‘Algal Bloom’

3)
“)

Algal Bloom decreases fish mortality

Eutrophication refers to increase in
domestic sewage and waste water in lakes.

F6 Hindi+English |

37

164

165

166

167

TR e e
FoA I: TG qoA SFEh| Sak s
FoA 11: suiy ge= frafta sas 31
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(1) < w1 wd I e 2
(2) ®F 19 § AfpT w11 o8 7
3) FF 1 3@d ¥ afeed wa= 11 9 ¥
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4) wsdpE faume
T L &l T I & | gAtad el
Tl T 11
A SN T I B-ToemEEss
B. = ‘@ Il ZEudeEds
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D. N <=’ IV. T e

i f§u 1o faeedi & @ @8 SO @ 999 B
(1) A-II, B-III, C-1V, D-I
(2) A-IIL B-1V, C-1, D-II
(3) A-III, B-I, C-1V, D-II
(4) A-1I, B-I, C-1V, D-III

= & ¥ @9 a1 HuF |9 3|

(1) S e o1 geH i e &Y T STiTeR
@ wigar ¥ ghg &1 8 ¥

A H BB AT H GH B BT AT TTp
& e
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¥ W )

2

3)
)

[ Contd...



168

169

170

171

Which one of the following symbols represents
mating between relatives in human pedigree
analysis?

O[O o I

o HO® ©» [ 1T—O

Once the undigested and unabsorbed substances
enter the caecum, their backflow is prevented by-

(1) lleo - caecal valve

(2) Gastro - oesophageal sphincter
(3) Pyloric sphincter

(4) Sphincter of Oddi

Which one of the following techniques does not
serve the purpose of early diagnosis of a disease
for its early treatment?

ey
)

Serum and Urine analysis

Polymerase Chain Reaction (PCR)
technique
3)

Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(4) Recombinant DNA Technology

Given below are two statements:

Statement I: Low temperature preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are

false.

Statement I is true but Statement II is
false.

)

Statement I is false but Statement II is
true.

Both Statement I and Statement II are
true.

3)

“)
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(4) gEnTS Sy et

T HEE T E
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(1) < w1 wd I e 21
(2) A 19T ¢ wfeT A 11 39 §)
3) FF 1 3@d ¥ afeed wa= 11 9 ¥
4) 3 F= 1 wd I 99 )
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Match List I with List IIL.
List I List 11
(Type of Joint) (Found between)

A. Cartilaginous 1.  Between flat
Joint skull bones
B. Ball and II. Between adjacent

Socket Joint vertebrae in
vertebral column
C. Fibrous Joint  III. Between carpal
and metacarpal of
thumb

Saddle Joint IV. Between
Humerus and
Pectoral girdle

Choose the correct answer from the options
given below:

(1) A-IL B-1V, C-I, D-1II
(2) A-L B-IV, C-lII, D-II
(3) A-IL B-1V, C-III, D-I
(4) A-II, B-1, C-II, D-IV

Given below are two statements:

Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the
ejaculatory duct.

Statement II: The cavity of the cervix is called
cervical canal which along with vagina forms
birth canal.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are
false.

Statement I is correct but Statement 11 is
false.

()

Statement I incorrect but Statement II is
true.

Both Statement I and Statement II are
true.

3)
)

In which blood corpuscles, the HIV undergoes
replication and produces progeny viruses?

(2) Basophils
(4) Ty cells

(1) B-lymphocytes
(3) Eosinophils
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T & g 1 & a@rg gafad &

T T 11
(@fa @1 wER) (¥ wen g A B)
A, SURY-gad I 9ud wu STRed
Gy % A
B. Wg® Wiwasr 1. &96®ds & &
dfy frepeardt waredral
% A
C. i &fy . &S & srw ik
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D. ¥=a dfy IV. &E ud o
TGl & A

T o o foeredl ® ¥ @ ST B 9T B
(1) A-IL, B-1V, C-1, D-III
(2) A-I, B-1V, C-III, D-II
(3) A-II, B-1V, C-III, D-I
(4) A-II, B-I, C-II, D-1V

T < *ue few MU ¥

F 1: eheledh Jb1erd W b aTfesil WI<l ebiall @
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SUged %Al b YahIeT |, Arg oy Ty faeedt 7 @ W@
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(1) 3 %= 1 wd 11 | E)
(2) = 19 § dfpd w11 38 7
(3) I 3@ T Wit Faa 11 97 2|
4) 3 F= 1 wd I 99 ¥

BT W T BoTET § TSNSl YiGPia war ©

i wafa fawmy ¥ar war 87
(1) Bwd@r & (2) S@ifear ¥
(3) zelfaaifeat &  (4) Ty ifrepret &
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Match List I with List I1.
List I List 1I
Heroin I. Effect on
cardiovascular system
II. Slow down body function

A.

B. Marijuana

C. Cocaine [11. Painkiller
D. Morphine IV. Interfere with transport of
dopamine

Choose the correct answer from the options
given below:

(1) A-L B-II, C-lII, D-IV

(2) A-1V, B-1II, C-1I, D-I

(3) A-I, B-1V, C-I, D-ll

4) A-I, B-I, C-1V, D-III

Vital capacity of lung is .
IRV + ERV + TV + RV

(h

(2) IRV + ERV + TV — RV
(3) IRV + ERV + TV

(4) IRV + ERV

Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.

(1) Numbat, Spotted cuscus, Flying phalanger
(2) Mole, Flying squirrel, Tasmanian tiger cat
(3) Lemur, Anteater, Wolf

(4) Tasmanian wolf, Bobcat, Marsupial mole

Match List I with List II.

List I List 1T
A. CCK [.  Kidney
B. GIP II. Heart
C. ANF III. Gastric gland
D. ADH IV. Pancreas

Choose the correct answer from the options
given below:

(1) A-1I, B-1I, C-1V, D-1

(2) A-I, B-1V, C-1, D-lII

3) A-1V, B-11, C-III, D-1

(4) A-1V, B-III, C-1I, D-I

Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A: Amniocentesis for sex

determination is one of the strategies of

Reproductive and Child Health Care Programme.

Reason R: Ban on amniocentesis checks

increasing menace of female foeticide.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is NOT the
correct explanation of A.

(2) A is true but R is false.

(3) A is false but R is true.

(4) Both A and R are true and R is the correct

explanation of A.
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T I & % |y gafad s

T 1 T 1
A. &tz [. &5 difEe dF U g9
B. Aftgemm 1L 9 & weEl @
T BT
C. @ihd . <Efar®
D. A(®H IV. SUHEE & ufasd § qren
T fau T e § 9§ @€ SO @ 99T B
(1) A-IL, B-II, C-II, D-IV
(2) A-1V, B-lII, C-II, D-1

3) A-II, B-1vV, C-1, D-1I
@) A-1, B-I, C-1V, D-11II

HHS B AT GHAT -

(1) omgemdr + samedr + 3t + amear
(2) ST + e + St — Sy
(3) omEeEr + gedr +

(4) omEeMRET + FameEr

el fafeto f@m o erefvar frgeam &
TR TR/AT B T B

(1) 92, 9ER H%hd, SSA-haiT

(2) #, S+ e, qEaE TR e

(3) =y, didm@nr, afean

(4) aentrr wfean, dade, fgam 9|

T I & g I % |y gafad s
T 1 T 11
A. HErs . go*
B. witemsdr . g™
C. TuuIu% 1. e wfyr
D. wdugm IV. =™

T fiu U faeel ¥ 9 @ SO B 99T HA
(1) A-IIL B-II, C-1V, D-I
(2) A-IL, B-1V, C-1, D-III
(3) A-IV, B-II, C-III, D-I
(4) A-1V, B-III, C-II, D-I

T B il T ¥ ue v A ¥ gE R
R 31

st A fo fefor & e Seeaem w9 ud S|
W T BREA Bl U iR 2

FRO R: @AY WX Ufqey 96d §T A& U1 &
% HEA B Udhal &

SugE BUAl & YISl H, A fGu T fowedt & @
I S BT 9T B

(1) Atud RIAI ad T Td R, A %1 T2 e =&}
.

A 9T ¥ Wi R 3@ &)

A 39 & Al R 97 %1

ATd R34 ¥ ud R, A & 98 = 31
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Given below are two statements:
Statement I: RNA mutates at a faster rate.

Statement I1: Viruses having RNA genome and

shorter life span mutate and evolve faster.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
false.

Statement I is true but Statement II is
false.

)

Statement I false but Statement II is true.

Both Statement I and Statement II are
true.

3)
)

Match List I with List II.

List I List 1T
A. Vasectomy I.  Oral method
B. Coitus II.  Barrier method
interruptus

C. Cervical caps IIl. Surgical method
D. Saheli IV. Natural method

Choose the correct answer from the options
given below:

(1) A-III, B-1V, C-II, D-1
(2) A-II, B-1I, C-I, D-IV
3) A-1V, B-II, C-1, D-1II
@) A-I, B-1, C-1V, D-lI

Given below are two statements:

Statement I: Electrostatic precipitator is most
widely used in thermal power plant.
Statement II: Electrostatic precipitator in
thermal power plant removes ionising radiations

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement II is
incorrect.

)

Statement I incorrect but Statement II is
correct.

Both Statement I and Statement II are
correct.

3)

“)
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182

FU 1: STRUAY SUaTha did &% 9 Iafafaa srar
.

Fa 11: STTAT SIMM Td 8IS Sied & ard fesTT]
drorar & Safafda ud fasfaa a2

Sugd HUAl & YISl H, A 4w T fowed ¥ 9
T T B IIT B

(1) o= o= I wd I 3 2
(2) 19 7 Al Fa= 11 o6 2|
(3) Fu 1 3E T wfe & I 9 2
(4) = Fa= I ud I 9 ¥

Tl 1 @l g4l 1 &% @19 gAfad &
Tl T I
A, gmaed et 1 @l S arar fafy
B. @& w@ed 1. < fafy
C. Twwiger War 2t 1 sreafpan fafy
D. @& IV. wrptaes fafy

A fiu U faeel ¥ @ W@ SO B g9 A
(1) A-II, B-1V, C-II, D-I
(2) A-IIL, B-III, C-I, D-IV
(3) A-1V, B-II, C-I, D-III
(4) A-1II, B-1, C-1V, D-II

R a sy faw o R

Fo I: A srgais A faega w99 o s w9 9
SUEM § @™ S g

o 1L: A9 forga S o Ieq Sraeis sTemieid
fafepor &t gerar 1

ST Bl & TbIT H A fau T fasedt § @ W@
I BN T B

(1) < w1 wd I e 21
(2) FF 197 ¢ dfeT w0 11 3@ ¥
(3) F 1 3wd § Afed ®a= 11 9 F1
4) 3 F= I wd I 99 ¥
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Given below are two statements:

Statement I: In prokaryotes, the positively
charged DNA is held with some negatively
charged proteins in a region called nucleoid.
Statement II: In eukaryotes, the negatively
charged DNA is wrapped around the positively
charged histone octamer to form nucleosome.
In the light of the above statements, choose the
correct answer from the options given below:
(I) Both Statement I and Statement II are
false.

Statement I is correct but Statement II is
false.

Statement I incorrect but Statement II is
true.

Both Statement I and Statement II are
true.

)
3)
)

Match List I with List II.

List I List II

Ringworm 1. Haemophilus influenzae
Filariasis 1. Trichophyton

Malaria HI. Wuchereria bancrofti

. Pneumonia V. Plasmodium vivax
Choose the correct answer from the options
given below:

(1) A-IL B-II, C-I, D-IV

(2) A-IIL B-II, C-I, D-IV

(3) A-I, B-1I, C-1V, D-I

(4) A-I, B-1II, C-1V, D-I

Sowy

Match List I with List II.
List I List IT
(Interacting species) (Name of Interaction)
A. A Leopard and a I.  Competition
Lion in a forest/grassland
B. A Cuckoo laying II. Brood
egg in a Crow’s nest parasitism
C. Fungi and root of a higher III. Mutualism
plant in Mycorrtizae
D. A cattle egret and
a Cattle in a field
Choose the correct answer from the options
given below:
(1) A-L B-II, C-1V, D-III
(2) A-I, B-1V, C-1, D-1I
(3) A-IL B-II, C-I, D-IV
(4) A-L B-I, C-II, D-IV

IV. Commensalism
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I Hud fqw MU R

FoA I: Wbl @iiedl § e SEie Siuay 8
FOMES AR Tl & G d9HY Th o g
BEHI Bed &, H Lol 2l

o 11: g § FOMEd AR ST 8-Tew
AT fee areeas & Al 3R fadeant Jfrmaram
ERIGIY

SUYe HAA! & TN A, T g T femedt H | W@
IAC B TIT B

(1) 3 #a= 1 wd 11 o8 21

(2) =W 19 & dfed w11 38 7

(3) = I 3@ T Wit Fa= 11 9 2|

(4) <9 wAITd I o F

T I & w0 % ary gafad s

cil | T 11
A. fored I EHifeea seggs
B. wEaiuiE II. grE@wEeT
C. wafe . gaifar dwrwers
D. V. wiHifegy azdeq

A fou U faeedt § € @ SAX @ 99e HA|

(1) A-II, B-III, C-I, D-IV

(2) A-II, B-II, C-1, D-IV

(3) A-II, B-II, C-1V, D-1

(4) A-1I, B-III, C-1V, D-I

T 1 & g 1 & a1 gafad &
Tl T 10
(anfar srarafsRa) (sr=rafeRa 1 <)

A ThaEAE B e A I @l
T & 9K

B. T3 T BN & 1. S gLsitear
Higd o ofs Ia1 ©

C. TAEHREs ¥ ®ak ud 1. FEear
ST Ul % W

D. UTH 9N 9g-aa@l gd V. deeiisar
wd ¥ 9T ug)

1 fiu U faeel ¥ @ @ SO B g9 A
(1) A-L B-II, C-1V, D-1II
(2) A-II, B-1V, C-I, D-II
(3) A-II, B-III, C-I, D-IV
(4) A-L, B-II, C-III, D-IV
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Which of the following statements are correct ?

A. Basophils are most abundant cells of the
total WBCs

B. Basophils secrete histamine, serotonin and
heparin

C. Basophils are involved in inflammatory
response

D. Basophils have kidney shaped nucleus

E. Basophils are agranulocytes

Choose the correct answer from the options
given below:

(1) C and E only
(3) A and B only

(2) B and C only
(4) D and E only

Match List I with List II.

List I List II
A. Mast cells I.  Ciliated epithelium
B. Inner surface II. Areolar

of bronchiole connective tissue
C. Blood III. Cuboidal epithelium
D. Tubular parts IV. specialised

of nephron connective tissue

Choose the correct answer from the options give
below:

(1) A-II, B-III, C-I, D-IV

(2) A-IL B-1, C-1V, D-II

(3) A-III, B-1V, C-II, D-1

(4) A-1, B-II, C-1V, D-1I

Select the correct statements.

A. Tetrad formation is seen during Leptotene.
During Anaphase, the centromeres split and
chromatids separate.

Terminalization takes place during
Pachytene.

Nucleolus, Golgi complex and ER are
reformed during Telophase.

Crossing over takes place between sister
chromatids of homologous chromosome.
Choose the correct answer from the options
given below:

(1) B and D only

(2) A, C and E only

(3) B and E only

(4) A and C only

In cockroach, excretion is brought about by-
A. Phallic gland B. Urecose gland

C. Nephrocytes D. Fat body

E. Collaterial glands

Choose the correct answer from the options
given below:

(1) A, B and E only

(2) B, C and D only

(3) B and D only

(4) A and E only
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e & @ @ | HuT e E 7

A, SOIfFd FA Ssgal B qEY eIt B
¥

B. saiftew fewfm, Rt ua &t & s
Bl 2

C. ddiftee nuery wiafharet & afmfaa sk £

D. wHifha ¥ gah & SHN B b5 sl 2|

E. <aifthel Sravriiyred &l 1

a feu U faeedl § 9 W SO @B 99T AU

(1) ¥@ CWE (2) ¥%a@ Buwd C

(3) %@ Awd B (4) %aw@ D g E

T I & T 1 % @ gafed s
T 1 @ 10

A. TR @Iy 1 ey Iudhen

B. gaafver @ . ufEer gae
Jaed qdqs Tq®h

C. T . =R Suehal

D. gahrst & V. fafdre dast o<
AfeTeRTeRIT |

1 fiu U faeedl § 9 W SO @B 99T A
(1) A-IL, B-III, C-I, D-IV
(2) A-IL B-I, C-1V, D-III
(3) A-IIL B-1V, C-II, D-I
(4) A-L B-II, C-1V, D-III

T HYA BT TIT B

A. ag% Fmir aguee # fa o

B. uymrawn ¥ Turgmiag fawfed @ ¥ oeix
ST ST B 2

C. WU ¥ IUIWaT oIl 51

D. dfse, Tiesie™ T 38R sicamaen § g a9
S

E. I Sy SHed ORE &l 987 e
% 919 B B

Ara fog U Tl @ | S99 S S & 999 B |

(1) %aa Bwd D

(2) ¥a@ A, Cwd E

(3) ®wa@ Buwd E

(4) ¥aa Awd C

foaaee & I@eA % B BT §1

A. fas vt B. I@&E ufa

C. - wrEEed D. @& fis

E. soves it

A fqu U faeedl ® 9 Sfa SR @1 99 &l
(1) ¥%a@ A, Bug E

(2) ¥%a@ B, Cwd D

(3) %a@ Buwd D

(4) ¥a@ ATE E
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Given below are two statements:

Statement I: During G, phase of cell cycle, the

cell is metabolically inactive.

Statement II: The centrosome undergoes

duplication during S phase of interphase.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Both Statement I and Statement II are
incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement 11
is correct.

(4) Both Statement I and Statement II are
correct.

Select the correct statements with reference to

chordates.

A. Presence of a mid-dorsal, solid and double
nerve cord.

B. Presence of closed circulatory system.

C. Presence of paired pharyngeal gillslits.

D. Presence of dorsal heart

E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the options

given below:

(1) B and C only

(2) B, D and E only

(3) C, D and E only

(4) A, C and D only

Match List I with List II.

List I List II
A. Logistic I.  Unlimited resource
growth availability condition
B. Exponential II. Limited resource
growth availability condition

C. Expanding II.
age pyramid

The percent individuals
of pre-reproductive
age is largest followed
by reproductive and
post reproductive

age groups

The percent individuals
of pre-reproductives
and reproductive age
group are same
Choose the correct answer from the options
given below:

(1) A-I, B-II, C-1I, D-IV

(2) A-IL, B-1V, C-I, D-lII

(3) A-I, B-1V, C-lII, D-I

(4) A-1, B-I, C-1I, D-IV

D. Stable age Iv.
pyramid
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& wyw fau o ¥

Fo 12 BT 56 B Gy 37T | HIiehT ST
w o i et 2

Fo 11 S2IEm Siaueeen & S wreren § f&r s
7l

Iuded HUAT b Wb H, Y U T faamedt § &
IAX BT TIT B

(1) a3 Fa= I ud 11 o\ &)

(2) ®F 19 § AfpT w11 o8 B

3) FA 1 @A ¥ afeed wa= 11 9 ¥

4) = ®w= 1 wd I 9 #|

Hisl b Ged A T BUA B TIT B

A. AL, 3 T IR dHHT o9 H SuRAfd
B. dg uftE@axr o @ IuRafd

C. 7& % gitma am fsi &1 suRafa

D. U 8T %l SURANT

E. P, g Tem ol

T fau U faeed § o skm SR @1 99q HAL
(1) %@ Bwd C

(2) %@ B, Dwd E

(3) %a@ C, DT E

(4) ¥a@ A, Cwd D

T L& T & are gafad &
Tl T 10
A, @IR-dF glg I o g
%1 AT B
T
B. gt ghg 1. Hifhd @enes @
SUAEHAT Dl ST
C. gl 3y . S9gd 3g &
s ATl 1 giaeraan
atfeehad Bt §
e a1e Swem
T AT 3G
3 2
D. fer amg IV. SF9E T Sed
s 3y it % Afear
@1 gfderadn g9
Bl 5

1 fiu U faeeal ¥ @ W@ SO B g9 HA
(1) A-IL, B-III, C-1, D-IV
(2) A-IL, B-1V, C-I, D-III
(3) A-II, B-1V, C-III, D-1
(4) A-Il, B-1, C-I1I, D-IV
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Which one of the following is the sequence on
corresponding coding strand, if the sequence on
mRNA formed is as follows

5> AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3°?

(1) 3 UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

5° ATCGATCGATCGATCGATCG
ATCGATCG 3’

3> ATCGATCGATCGATCGATCG
ATCGATCG 5°

5" UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’

)
3)
“)

Which of the following is characteristic feature
of cockroach regarding sexual dimorphism ?
(1) Presence of anal styles

(2) Presence of sclerites

(3) Presence of anal cerci

(4) Dark brown body colour and anal cerci

Which of the following statements are correct

regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

B. Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

C. Striated appearance of skeletal muscle fibre
is due to distribution pattern of actin and
myosin proteins.

D. M line is considered as functional unit of

contraction called sarcomere.
Choose the most appropriate answer from the
options given below:
(1) B and C only
(2) A, C and D only
(3) C and D only
(4) A, B and C only

The unique mammalian characteristics are:

(1) hairs, pinna and mammary glands

(2) hairs, pinna and indirect development

(3) pinna, monocondylic skull and mammary
glands

hairs, tympanic membrane and mammary
glands

“)
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gfs 99 3T mRNA &1 %9 2 fear w3

5> AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3’, a8 = & &iIfST 9] &1 %9 &
B Y
(1) 3 UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

5" ATCGATCGATCGATCGATCG
ATCGATCG 3°

3 ATCGATCGATCGATCGATCG
ATCGATCG ¥’

5" UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3°

)
3)

“

e & @ B9 9 fawaee & dfte e @ fafiee
AT T P

(1) &1 9% @i SuRafd

(2) ®od B IURATT

(3) T T B Suiyfa

(4) TEQ U MR & 1 T [EF qH

et Ut & fowg & B FUT @ ¥ 7

A.  Uslt 59 BIiol G Hak Bl UG d 3
T ¢ R duee @Ed ¥

B. Ul g & Arebranoneh {EageH dhieadd Sat

H WS T[E 2|

et Uil 1 arieR feamee e e "R

T % faaeer gfoed & & B $

T @l Bl GHAT Bl HATHD 315 AT STl

% 8 dmaiterR ®ed )

Ara fog TTq foeeal § 9 @aQ Sfaa ST &1 99 & |

(1) %a@ Bwa C

(2) ¥%ad A, Cwd D

(3) %aw@ C wg D

(4) ¥a@ A, Bwa C

C.

D.

B o fafireand ueasr waetEt &t € ?
(1) ¥, Buidedd Td @@= Ui

(2) T, BUYeAd TS T GaE

(3) HvieHd, HHIBISE BUTE T WA AR
(4) ¥, B9 veE T wd w@e uRm

[ Contd...



197

198

199

200

Which one of the following is NOT an advantage
of inbreeding?

(1) It exposes harmful recessive genes that are
eliminated by selection.

Elimination of less desirable genes and
accumulation of superior genes takes place
due to it.

It decreases the productivity of inbred
population, after continuous inbreeding.
It decreases homozygosity.

)

3)
)

The parts of human brain that helps in regulation
of sexual behaviour, expression of excitement,
pleasure, rage, fear etc. are :

(1) Corpora quadrigemina & hippocampus
(2) Brain stem & epithalamus

(3) Corpus callosum and thalamus

(4) Limbic system & hypothalamus

Which of the following statements are correct?

A. An excessive loss of body fluid from the
body switches off osmoreceptors.

B. ADH facilitates water reabsorption to
prevent diuresis.

C. ANF causes vasodilation.

D. ADH causes increase in blood pressure.

E. ADH is responsible for decrease in GFR.

Choose the correct answer from the options

given below:

(1) B, C and D only

(2) A, B and E only

(3) C, D and E only

(4) A and B only

Which of the following are NOT under the
control of thyroid hormone?

A. Maintenance of water and electrolyte
balance

Regulation of basal metabolic rate
Normal rhythm of sleep-wake cycle
Development of immune system

Support the process of R.B.Cs formation
Choose the correct answer from the options
given below:

(1) B and C only

(2) C and D only

(3) D and E only

(4) A and D only

MmO O w
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e & @ B SiqueHT & @y TE B 7

(1) % T YE STl ST %l SEHIRIT HIdm & ol
Tg9 g0 riaa fpu oimd ¥

g5 fober & Sl &1 HOEe BT 1

AR ST & 918 I8 ST qHRE B
SATEHAT BH BT 8|

(4) T& gIg™Al B HF BT 5

)

3

ANE ARass B 9T Wl @R Sae, Al al
arfyreaterd, galt, T[ea, ST gaTe &l FE=w HYa 2|
(1) SBRUR FESerET ofik fEdidhud

(2) #faw @Y &R g

(3) HE FAEH TE e

(4) fofis 4 &R sEudemE

Freafafed & @ &9 9 ®uT @8 7

A, R 9 srafys aife 59 &1 | quEn
TRt ® 9 BT T T

B. USIIa AT B ek % AT ST b GAUasioo
Bl G S 2|

C. TUUAUE aArfEan fowamor &ear 21

D. UwSug @ 39 H Seradd &l ol

E. wEiug fuwsR ¥ &9 % 0y saEr 2|

T fau U faeedt § 9 skm SR @1 9@ B

(1) ¥%a@ B, Cwd D

(2) %a@ A, Bud E

(3) %@ C,Dwd E

(4) %aw Aud B

o & | i arEiss gEe & R § TR e
A, @ U dYd q9EIT WA B Q@
B. ngrE SUME §X & |

C. HH-WFM & 9% & Mg @ |

D. yfqwanr o= @ fasmE|

E. emeardr. fmior & ufkar & wantsd &
A feu Tu faeedt § € w6 S @1 99w &
(1) %aw@ Bud C

(2) %aa C wd D

(3) ®a@ Dud E

(4) ¥a@ ATd D
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fefefEe [FEsT ear7 @ g -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

AT TR g W, qdemedt a1/ gie Sied ¥ 9d 3
U (g ufafeiy v shraiera ufatafa ) shey fHaeres
ohY TGV WU S | Tdemeft 379 e g giedert o 5
wehd B

2H qfent o1 Geha & F6 1| g gffyea oo fon
T GAIahT ohT Hehd, ST TR oh Ho1 Afdferia ag a1y
T Hehd W faerar &1 oR =g fis & < wdamedt gud
e giedert 3R IR 3 o1 & fag fies 1 i
T Q|

Tdameft ghfyea i fe 39 ST o= =61 | 7 91w
I R 37 T2 7 e | qdeedt sTae TR
¥ gikaenl/ I 99 § Fuifa Tom & sifafea s
=1 ferdi |

IW 79 R fFE THR F ded 7 K KES +
N T ST T R |

TS M R Y gdamel, fiers 1 79 gae-ua
fe@md |

g arefters a1 flere 1 fovm erqmfa o fam =
Tdefreft STo T A B |

Frdd e &1 91 SR U feq faqn wd
Iufeerfd-—as/eh T g sEaR (T % @e1) fehg
fom =g ghaneff odan e =S B0 afe feet
gitgrrell ¥ gET R SufeIfd-useh u¥ e TE
R =1 =g AT STET foh SET ST U S wteran ¥
3T srgfara | st JIHeT JEn S
eI eh/ eaaerd URehetsh sl SUANT afeld & 1
TART-heT/BicT H =R0T o T udemeff, odem &
ot we fafradi g fafaa €1 egfaa @em &
Y ATEE! 1 e 39 TdaT o feEi v faftesi
STIRENT |

foret grema & et gicant ST STX U T g
HT ST A L

T giedeht / SR U= H fau Tu udet gRaent dohd i
qdemel wE alek ¥ sufeafa-udes § fod |

A "¢ 9 e @t erafy &t lien & fau us g
Ut fFe @1 wfaqRe @99 yee fean wmom, a9t
g gt (S femew & fow omdifies w0 @ e
), BHIES BT IUART HIAT & a1 T2 |

6.

=~

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is F6 Make sure

that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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